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Comprehensive Topic Coverage: The study module comprehensively covers the Straight Line
in Coordinate Geometry, spanning slope, intercepts, equations, parallel and perpendicular
lines, distance formula, and more — aligning with the IIT-JEE Class 11 curriculum.

Conceptual Clarity: The content is presented with a focus on conceptual clarity, elucidating
the fundamental principles that govern the behavior of straight lines in the coordinate
plane.

Problem-Solving Techniques: Benefit from a plethora of solved examples and problem-
solving techniques, empowering you to tackle a diverse range of problems related to
coordinate geometry and straight lines.

Practice €xercises: €Engage in practice exercises designed to reinforce your learning. These
exercises cover various difficulty levels, allowing you to assess and enhance your proficiency

Time Management Tips: Receive tips on managing your study time effectively, allowing you
to allocate time to different sections based on the weightage of topics in the lIT-JEE Class 11
exam pattern.

Strategic Study Rpproach: Follow a strateqic study approach that helps you grasp the
underlying principles, enabling you to approach problems with confidence and strateqic
thinking.

Online Accessibility: The study module is accessible online, providing the convenience to
study anytime, anywhere. This flexibility allows you to integrate focused study sessions into
your schedule.
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Chapter Highlights

Distance Formula, Section Formulae, Area of a Triangle, Condition for Collinearity of Three Points, Stair Method
for Finding the Area, Area of a Quadrilateral, Area of a Polygon, Stair method, Locus, Translation of Axes,
Rotation of Axes, Reflection (Image) of a Point, General Equation of a Straight Line, Slope of a Line, Intercept of
a Line on the Axes, Equation of a Straight Line in Various Forms, Reduction of the General Equation to Different
Standard Forms, Angle between Two Intersecting Lines, Condition for Two Lines to be Coincident, Parallel,
Perpendicular or Intersecting, Equation of a Line Parallel to a Given line, Equation of a Line Perpendicular to
a Given line, Point of Intersection of Two Given Lines, Concurrent Lines, Position of Two Points Relative to
a Line, Length of Perpendicular from a Point on a Line, Distance between Two Parallel Lines, Equations of
Straight Lines Passing Through a Given Point and Making a Given Angle with a Given Line, Reflection on the
Surface, Image of a Point with Respect to a Line, Equations of the Bisectors of the Angles between Two Lines,

T Equations of Lines Passing Through the Point of Intersection of Two Given Lines, Standard Points of a Triangle,
= Orthocentre, Coordinates of Nine Point Circle.
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& DISTANCE FORMULA SOLVED EXAMPLES -
O
= The distance between two points P(x, y ) and Q(x,, y,) is (@)
:‘ given by vt o 1. Consider the point 4 = (0, 1) and B = (2, 0). Let P be =
0 a point on the line 4x + 3y + 9 = 0. Coordinates of the
0 i he line 4x + 3y + 9 = 0. Coordi f th <
S O (xy y2) point P such that |P4 — PB| is maximum, are =
~ O
o 84 13 12 17] =
A) | ——. = B) | -—,—
§ P(x, ) ()( S’SJ ()[55 E
Fig. 18.1
g ig 18 (O) (—%,%} (D) none of these g
>
- PQ = \/(xz —x) + (= n) Solution: (A) 5
revanc :
>
= Distance is always positive. Therefore, we often write PQ P ! %
instead of |PQ]. e
u Distance MN between two points M(x,, 0) and N(x,, O) on 40, 1) 5
the x-axis is |x, — x, |. Similarly, the distance between two B(2,0) s
points M(x,, y,) and x(x,, y,), (which lie on a line parallel to 0 X e
x-axis) is |x2 - x| :;
= Distance AB between two points A(O, y,) and B(O, y,) on z
the y-axis is |y, —y, | . Similarly, the distance between two \ @
points A(x,, y,) and B(x,, y,), (which lie on a line parallel %
tDO'J'; -axis) ';’ L{f -y ltlh gin 0(0, 0) and th ot Thus, for |P4 — PB| to be maximum, point 4, B and P ’
m Lsiance Dofween o origin LAt U} and e poir must be collinear. The equation of line AB is o
P(x,y) is OP = /x* + y*. q %
x+2y=2 =
=
T
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Solving it with the given line, we get P = (_ﬁ EJ

575

. Aladder of length ‘a’ rests against the floor and a wall

of a room. If the ladder begins to slide on the floor,
then the locus of its middle point is

(A) 2 +yP=a? (B) 22+ =a®
(©) 2+ =24 D) 42+ =a®

Solution: (D)

Let AB be the ladder. Let the cross section of the floor
and wall be taken as the coordinates axes. Let P(x, )
be the mid-point of AB whose locus is required. Then
the coordinates of 4 and B are (2x, 0) and (0, 2y)
respectively.

Given, AB=a

= J(Zx—())z +(0-2yY =a = 4x*+4y*=d’
or 4(x* +3%) = &% which is the required locus.

YA
B

Px )
0 4 Y

. The point (22 + 2t + 4, £ + ¢+ 1) lies on the line x + 2y

=1 for

(A) all real values of ¢
(B) some real values of ¢

(© (42T

(D) none ofgthese

Solution: (D)

The point (2 + 2t + 4, # + ¢t + 1) lies on the line x + 2y

=1ifRE+2t+H+2(F+t+ 1)=1

ie., 42 +4t+5=0
Here, discriminent=16 -4 x4 x 5§ =-64 <0,
No real value of ¢ is possible.

Hence, the given point cannot lie on the line.

. If the sum of the distances of a point from two perpen-

dicular lines in a plane is 1, then its locus is
(B) circle
(D) two intersecting lines

(A) square
(C) straight line
Solution: (A)

If orand 3 are the lengths of perpendiculars, then
|ad + |B] =1 (given), whose graph is a square.

. The condition to be imposed on S so that (0, B) lies on

or inside the triangle having sides y +3x+2 =0, 3y —
2x—5=0and4y+x—-14=0is

IIT-JEE-MATHEMATICS
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(A) 0<p <> B) 0<pB<L
<ﬁ<§ 5
© %s B s% (D) none of these

Solution: (C)
Clearly point (0, ) lies on y-axis.
Drawing the graph of the three straight lines, we see

that O = [O,ZJ and P= (0,§]
2 3

YJ\

Therefore, the point (0, ) lies on or inside A4BC,

when
5 7
Z<p<l
3 P 2

. A straight line L with negative slope passes through

the point (8, 2) and intersects the positive coordinate
axes at points P and Q. As L varies the absolute mini-
mum value of OP + OQ is (O is origin).
(A) 12 (B) 14
(C) 18 (D) 20
Solution: (C)
The equation of the line is
y—-2)=m(x—8),m<0

The coordinates of P and Q are P [8 ——Z—,OJ and

00, 2 — 8m). m

2
Therefore, OP + OQ =8——+2—-8m
m

= 10+i+8(—m)
—m

> 1042, -2 x8(-m) =18
—m

Thus, absolute minimum value of OP + OQ = 18.

. If the point (2 cos®, 2 sinf) does not fall in that angle

between the lines y = |x — 2| in which the origin lies
then 8 belongs to

NEE w(3)
(©) 0, n) (D) none of these
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Solution: (B)

Clearly the point (2 cos8, 2 sin6) lies on the circle
YA
0,2)
P (2 cos 6,
25sin ),/
<

0 0 %

©0.-2) v
x*+yP=4
The two lines represented by the equation y = |x — 2|
arey=x—-2andy=2-x.
From the figure, 8 can be vary from —% to %

8. On the portion of the straight line x + y = 2 which is
intercepted between the axes, a square is constructed
away from the origin, with this portion as one of its
side. If p denotes the perpendicular distance of a side
of this square from the origin, then the maximum
value of p is

(A) 2 (B) 2v2
©) 32 (D) 42
Solution: (C)

p=0ON=0M+ MN = 1 distance from

YA C
22 2"3
0,2)B D
M
2‘5 2\5
0 402,00 X
O to the line AB + AD

2
=E+2\/5=\/§+2\/5=3\/5

3 2
9. Ifthe points P[ 4 T 4 13J =1, 2, 3 are collinear
1 a -
and a,, 02 and a, are distinct real numbers, then
(A) aaa,—Zaa,—3%a, =0
(B) alaza3 + Za @, —3Za, =0
(©) aa, Zaa ,+3%a, =0

(D) - ala2a3 + Za]a2 —2Za, =0
Solution: (C)
Let the given points lie on the line Ix + my + n=0

3 2
I| L |m| & 3 +n=0
a,—1 a,—1
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= la?+ma.2+na,—3m—n=0
3m+n
z Zaa2 andaa2a3 ;

a,a,a, +3Z:al —Zala2 =0

Let ax + by + ¢ =0 be a variable straight line, where a,
b and c are first, third and seventh terms of an increas-
ing A.P. Then, the variable straight line always passes
through a fixed point which lies on
(A) 3+ =4 (B) ¥+ =13
(©)3*=2¢ (D) 2x+3y=9
Solution: (B)
Let d be the common difference of A.P., then
b=a+2dandc=a+6d. Clearly, (b—a) x3=c—a
= 2a-3b+tc=0

Thus, the straight line ax + by + ¢ = 0 passes through
the point (2, —3) which also satisfies x*> +)* = 13.

If a, b, ¢ form a G.P, then twice the sum of the ordi-
nates of the points of intersection of the line ax + by +
¢=0and the curve x +2)* =0 is

(A) (B)
©

Solution: (A)

Let a, b, ¢ be in G.P. with common ratio .

Then, b=ar and c=ar’.

So, the equation of the line is ax + by + ¢ =0

= axtarytarr=0 = x+rp+trr=0

This line cuts the curve x +2y? =0

Eliminating x, we get 2)? —ry + 1> =0

If the roots of the quadratic equation are y, and y,, then
c

r b
y1+y2=5 = 2(}’1+y2)=r=;=5-

If a, b, c are in A.P, then the straight line ax + by + ¢ =
0 will always pass through a fixed point whose coordi-
nates are

@A) -1,-2) B) (1,2)

©) -1,2) D) (1,-2)

Solution: (D)

Since a, b, care inA.P, . 2b=a+c

or a-2b+c=0

= The line ax + by + ¢ = 0 passes through the point
(1,-2).

(D)

ol Q|
[S NI ~YE ST oY

SECTION FORMULAE
1.

The coordinates of the point P(x, y) dividing the line seg-
ment joining the two points A(x, y,) and B(x,, y,) inter-
nally in the ratio m, : m,, are given by
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gﬁ m mz = B (xy y)) SOLVED EXAMPLES
= P@y)

A(xp yy) 13. Ifatriangle has its orthocentre at (1, 1) and circumcen-
33 . .
Fig. 18.2 tre at (5, Z)’ then the coordinates of the centroid of
the triangle are
o I X y="hY2 M) £ f o 5
m, +m, m, +m, (A) (_ _g) (B) [g,g)
45 4 5
©) (——,—) (D) [“3,—3]
NOTE 36
Solution: (B)
= To remember the formula it is helpful to note that m, is Since the centroid divides the line joining the ortho-
multiplied by the coordinate ‘away from it' and similarly centre and circumcentre in the ratio 2 : 1 internally,
is m, and the sum is then divided by m + m,. Thus the therefore, if the centroid is (x, ), then
above result can be remembered with the help of the d B
figure given below. 1 C(3 3)
2 2
2
m; m, G (x,y)
3 t o1
m P R
= (xp;1) (x,») (x2, ) 2.§+1.1 2.§+1.1
z Fig. 18.3 x=—=2 =" and y=4_=§_
- m The coordinates of the point P(x, y), dividing the line 2+1 3 2+1 6
+ segment joining the two points A(x,, y,) and B(x,, y,) 45
_f externally in the ratio m :m.,, are given by . Coordinates of centroid are 3 g :
0
S =0 =% y= my, —myy, 14. A rectangle has two opposite vertices at the points (1,
= m, —m, m, —m, 2) and (5, 5). If the other vertices lie on the line x = 3, -
® AP _ M _ P(x,) then the coordinates of the other vertices are Z
4 - 1 o o
o B M e (A) 3,~1), (3,-6) (B) (3,1).(3,5) -
°© B(xy ») © (3,2),3,6) (D) (3,1),(3,6) 0
= A(x, ») Solution: (D) _53
5 Fig. 18.4 LetA=(1,2)and C=(5, 5). Since the vertices B and D lie 7
= = The coordinates of the mid-point of the line segment join- on the line x = 3, therefore, let B = (3, yl) and D=3, yz)' ;
N ing the two points A(x,, y,) and Bl(x,, y,) are given by Since AC and BD bisect each other, so they have @]
w X+ X, Yi+Y, . : c
0 =35 g ) same middle point o
% D@,y 0
(8 B(xy, y,) ':9.
(7 P(x, y) {24 E
A(xy, yy) x=3 =
Fig. 18.5 T
- e >
C(.5) o
TRICK(S) FOR PROBLEM SOLVING 56,y 9
The coordinates of any point on a line joining the two points . g
+
A and B are given by (M M) Such a point ie., Ao 2 &
A+1 A+1 2 2 §
divides the given line in the ratio A : 1. If A is positive, then or »n+ty,=17 (1) =z
the point divides internally and if A is negative, then the Also, BD?= AC* g’)
point divides externally. = 0,-»)=(1-5P+2-50=25 =
or y| _yz == 5 (2) L
(o]
N
0
N
oy
T
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S e ______ SOLVEDEXAMPLE
or y=lLy=6 SOLVED EXAMPLE

Thus, the other vertices of the rectangle are (3, 1) _
and (3, 6). 16. The diagonals of a parallelogram PQORS are along the

li +3y=4and 6x—2y="7. Then PORS must b
15. If the centroid and a vertex of an equilateral triangle mes Xy =Sandbx—sy en PORS must be a

are (2, 3) and (4, 3) respectively, then the other two (A) rectlgngle dril 1 (g) sguar}e::)
vertices of the triangle are (C) cyclic quadrilatcra (D) rhombus
(A) (1,3%43) (B) (2.3%3) i
ince the product of slopes of the diagonals is —1,
+
© q, Zi\/g) D) @, 2_\/5) therefore, the diagonals are at right angles. Hence,
Solution: (A) PQORS is a rhombus.
G being the centroid, divides 4D in the ratio 2 : 1.
5 P AREA OF A TRIANGLE
The area of A4BC with vertices A(x, ), B(x,, y,) and C(x,,
1 2 e _
y=3 D I 1 @3) ¥,) 1s given by:
1,3 @3 1
A =5[x1(y2 =13)+ X%, =)+ 50— )l
C
. |
- Since 4G=2, .. GD=1, =[Gy, + 03 +x,3) = (%3 + %y, + 51 35)]
! Coordinates of D, using section formula, are
= (1, 3). : o 1
z NowAD=1+2=3, . tan60°=—— = BD=4/3. =5 » 1
c BD PR
= B=(1,3++3) and C =(1,3-+/3).
._. A (xl’ yl)
0
@ % NOTE
D
2 The given figure is a C{xy, y3)
3
~ B(xy, 1,)
:‘ Fig. 18.8
0 5 .
= parallclogram if rectangle if TRICK(S) FOR PROBLEM SOLVING
X Fig. 18.6 . . "
N
= (a) Opposite sides are  (a) Opposite sides are " ;‘:rea 2 ?trltahglells»alw'ays t::en o pisnllve.
X equal equal u If area of a triangle is given, then use + sign.
g (b) Diagonals are unequal (b) Diagonals are equal
(J\ . .
(c) Diagonals bisect each Di Is bisect h
S other (€) Dlagonals bisecteah | CONDITION FOR COLLINEARITY OF THREE
POINTS

The points 4(x, y,), B(x,, y,) and C(x,, y,) will be collinear
(i.e., will lie on a straight line) if the area of the triangle,
assumed to be formed by joining them is zero.

rhombus if square if 1
Fig. 18.7 182 E [y, =2, 0) + (505 —%,1,) + (X0, —x,13)]=0
(@) All four sides are equal (a) All four sides are equal
— + — + - =
(b) Diagonals are unequal (b) Diagonals are equal or [(x]yz x2y') (x2y3 x_,]yz) (x3y] T )1=0,
(c) Diagonals bisect each (c) Diagonals bisect each which can also be written in the form
other at right angles. other at right angles.

xl(yz_y3)+x2(y3 _yl) +x3(y1 _yg) =0.
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Sign of an area: An area will be considered to be +ve, m fax+by+c =0ax+by+c,=0andax+by+
if in going round the boundary, it always lies to the left ¢, = 0 are the equations of three sides of a triangle, then
i.e., if the order of description of the boundary curve is the area of triangle is given by
anti-clockwise. It will be regarded —ve otherwise. a b c
GZ bZ C2
A — OS b3 C3
—ve +ve b2 2 CZ 02 GZ bZ
b3 3 3 3 3 bE!
B C B C
Fig. 18.9

2
m Area of the rhombus formed by ax = by + c =0 is|—

STAIR METHOD FOR FINDING THE AREA

m Area of the parallelogram formed by the lines a x + b,y +
¢, =0ax+by+c,=0,ax+by+d =00ax+by
+d,=0is

»  Write the coordinates of the vertices taken in order in
two columns. At the end, repeat the coordinates of the
first vertex.

» Mark the arrow-heads as indicated. Each arrow-head ’(d1 —a)d; - ¢)
shows the product. ab, —ab,

+ The sign of the product remains the same for downward

a
m arrows while it changes for an upward arrow.
= » Divide the result by 2. SOLVED EXAMPLES
&
- o >< Y1 17. Through the point P(ex, B), where ¢8> 0 the straight
0
= o line £+2 =1 is drawn so as to form with coordinate
o) 2 Y2 a
i >< axes a triangle of area S. If ab > 0, then the least value
= . y of S'is <
© . 2 Z
o (A) ofp (B) 2af S
g %, ” (C) dafs (D) none of these =
= Fie. 18.10 Solution: (B) 8
~ ig. 18. . : . .
o & The equation of the given line is ®
0 w
O 1 2RO (1 -
~ Thus, A :5[(x1y2 —=%,01) (%05 =% ¥,) + (40 —X%,5)] a' b ~
N O
w (=
g Y/\ 2
o TRICK(S) FOR PROBLEM SOLVING \ 8
(73 . . B(0,h)
o = In an equilateral triangle %
2 A1) 0
S P(a, pB) =
>
Z
R >
| 0
’ Gon ¥ 5
(x2,¥2)B Clx3, y3) <
Fig. 18.11 This line cuts x-axis and y-axis at A(a, 0) and B(0, b) e
5 respectively. 2
(i) having sides q, area is Taz Since area of AOCAB =S (Given) =
— ‘ i P 1 9
i) having length of perpendicular as ‘p’, area is . A = .- >
(i) g leng perp P 5 2ab Sorab=2S (- ab>0) (2) =
®
N
>
N
w
T
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18.

19.

Since the line (1) passes through the point P(e, )

o B o aff .

—+==1 or —+—=1 [Using (2)]

a b a 28 &
or a*ff—2aS+205=0.

Since a is real, .. 45— 8afiS =0

or45* > 8afBS or S > 2aB ('.'Sz%ab >0 as ab>0J

Hence the least value of S =203,

P(3, 1), O(6, 5) and R(x, y) are three points such that
the angle RPQ is a right angle and the arca of ARPQ =
7, then the number of such points R is

(A)0 (B) 1

(© 2 (D) 4

Solution: (C)

Since the angle RPQ is a right angle,
slope of RP x slope of PO =—

-y 5-1
3_x><6_3——1::>3x+4y—13 (D
Also, arca of ARPQ =7
x ¥y 1
= l| 31 11=7
5 6 5 1

= %[x (1-5)-p(3-6)+1(15-6)] =+

= —4x+3y+9=+14 = —4x+3y=5 (2)
and —4x+3y=-23 (3)

Solving Eq. (1) and (2) and (1) and (3), we get two
different coordinates of the point R. So, there are two
such points R.

If two vertices of an equilateral triangle have integral
coordinates then the third vertex will have

(A) coordinates which are irrational

(B) atleast one coordinate which is irrational

(C) coordinates which are rational

(D) coordinates which are integers

Solution: (B)
Let the vertices of the equilateral triangle be (x,, y)),
(x,, ¥,) and (x,, ,). If none of x, and y, (i =1, 2, 3) are
irrational, then
x oy 1
area of A= 5 X, ¥,
x, oy 1
But the area of an equilateral triangle

1| = retional.

= 73(side)2 = irrational

Thus, the two statements are contradictory. Therefore,
both the coordinates of the third vertex cannot be
rational.

IIT-JEE-MATHEMATICS

20.

21.

22.
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Let P(2,—4) and O(3, 1) be two given points. Let R (x,
yybeapointsuchthat(x—2) (x-3)+ (-1 (y+4) =
0. If area of APQOR is %, then the number of possible

positions of R are

(A)2 (B) 3
(€ 4 (D) none of these
Solution: (A)

We have

E-Dx-3H+y-DE+4=0
ElEx
x=2 x-3
= RPJ_RQorAPRQ:%

. The point R lies on the circle whose diameter is PQ.
R(x, ¥)

Now, area of APQR = g

= L x+/26 x (altitude) = i
2 2

= altitude = % = radius
= there are two possible positions of R.

The base of a triangle lies along the line x =@ and is of
length a. The area of the triangle is @?, if the vertex lies
on the line
(A)x=0

(C) x=3a

Solution; (B, C)
Let / be the height of the triangle.
Since, the area of the triangle is a?

(B) x=—a
D) x=-3a

%xaxxh:a2 = h=2a

Since the base lies along the line x = g, the vertex
lies on the line parallel to the base at a distance 2a
from it. So, the required lines are

x=at2aie,x=—a or x=3a

If a, c, b are three terms of a G.P, then the line ax + by
+c=0

(A) has a fixed direction

(B) always passes through a fixed point

A c©
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(C) forms a triangle with the axes whose area is

constant
(D) always cuts intercepts on the axes such that their
sum is zero.
Solution: (C)
Since a, ¢, b are in G.P,
?Z=ab (D
The area of the triangle
-2 H5)
= =] =— |X| ==
2 a b
¥ A

1 ? 1 .

xs = Using (1

=% =g [Using (1)]
= constant

23. Ifx,x, x,aswellasy,, v, y, are in G.P. with the same
common ratio, then the points (x, y), (x,, v,) and (x,,
)
(A) lie on a straight line
(B) lie on an ellipse
(C) lie on a circle
(D) are vertices of a triangle

Solution: (A)
Let 2=5 _pang 222 -,
XX o »n
= x,=xrx,=xr,y,=yrandy =yr.
We have,

x o »n iy oy 1
X, y l=\xr yr 1
Xy 1 | oyt 1

x »n 1
=0 0 1-r
0 0 1-r

(Applying R, > R, —rR,and R, > R, —rR )=0
(" R, and R, are identical)
Thus, (x, ¥)), (x,, ¥,), (x,, ¥,) lie on a straight line.
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24. Two vertices of a triangle are (2, —1) and (3, 2) and
third vertex lies on the line x + y = 5. If the area of the
triangle is 4 units then third vertex is

(A) (0,5 or (4, 1) (B) (5,0)0r(1,4)
(C) (5,0)0r (4, 1) (D) (0,5)o0r(1,4)
Solution: (B)

LetA=(2,-1)and B=(3, 2).
Let the third vertex be C (e, f).

Then, o+ f=5 (given) 4]
2 -11
Area of AABC = % 2 1|=+4 (given)
a p 1
= B-3a=1 (2)
or B-3a=-15 (3)

Solving (1) and (2), we get, x=1, =4
Solving (1) and (3), we get, =5, B=0
Thus, the third vertex is either (5, 0) or (1, 4).

AREA OF A QUADRILATERAL

The area of a quadrilateral, whose vertices are A(x,, y,),
B(x,, y,), Cx;, y;) and D(x,, y,), is

1

2
NOTE

The rule for writing down the area of a quadrilateral is the

same as that of a triangle.

XN

X N

Yy
XN

X, Y,
+ 2

X3 N

RET
IR E] I

Xy Vg

Thus, area of quadrilateral with vertices (x,y,),
r=1,2,3,41is

1
E[(xlj";‘. =%,0) (X005 = X33,) + (Y, =X, 33) +(x, 0, —x,3,)]

AREA OF A POLYGON

e The area of a polygon of n sides with vertices 4 (x,, y,),
A(x,,0,), oy A (X, ) 18

=l X0 + X, N fend Xot Vaa 5 Xp  Vu
201, »| % X o Wa XN
STAIR METHOD

Repeat first coordinates one time in last. For down arrow
use positive sign and for up arrow use negative sign.

A c P STUDY CIRCLE
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X1 471
x7>§y Now, areaof S <1 = a*<l = 100<1
A 2 n n 2"—1
1 x3" S y3 = 2">200>2" = a>7
.. Area of polygon = 5- n=8,9,10
*n_ =¥n
Wy Locus

e locus of a moving point is the path trace it under
The 1 f ing point is the path d by it und
= l{[( XY, H XY, e X, 1) = (M3, 3, X e Y, )]} certain geometrical condition or conditions.

2 For example, if a point moves in a plane under the
geometrical condition that its distance from a fixed point O
in the plane is always equal to a constant quantity a, then

SOLVEDIEXAMELES the curve traced by the moving point will be a circle with
centre O and radius a. Thus, locus of the point is a circle

25. The area of the region enclosed by 4 x| + 5 |y| €20 is with centre O and radius g.

(A) 10 (B) 20
(C) 40 (D) none of these WORKING RULE TO FIND THE LOCUS OF A POINT
Solution: (C) m Let the coordinates of the moving point P be (h, k).

The four lines enclosing the given region are 4x + Sy m Using the given geometrical conditions, find the relation
=20, 4x — 5y = 20, — 4x + 5y = 20 and — 4x — 5y = 20 between h and k. This relation must contain only h, k and

a
E Clearly, the four lines form a rhombus having I;nown q:Jhant|F|es. Ry m
= - m Express the given relation in h and k in the simplest form
diagonals of length 10 and 8.
r% & & and then put x for h and y for k. The relation, thus obtained,
,Y\ will be the required equation of the locus of (h, k).

;
o
3 TRANSLATION OF AXES
w
§ 24 Sometimes a problem with a given set of axes can be )
o solved more easily by translation of axes. The translation of %
= axes involves the shifting of the origin to a new point, the m
~ new axes remaining parallel to the original axes. 8
~
) 1 vy .
- . Required area = EX 10x8 = 40. p r
N 7~
o 26. Let S|, S,, ... be squares such that for each n 2 1, the P(x, y) 8
X length of a side of § equals the length of a diagonal =
= of § .. If the length of a side of S, is 10 cm, then for 8
= which of the following values of # is the area of S, less (h, k) Sy =
Cl than 1 cm?? O'i EM' i r;:
< >
(A7 (B) 8 ol ~ o oX )
©9 (D) 10
Solution: (B, C, D) Fig. 18.12

Let a be the side of the square, then diagenal d = av/2.
Given: g = J2a Let OX, OY be the original axes and O be the new origin.

Let coodinates of O’ referred to original axes, i.e., OX, OY

n+l

_ an _ an—l _ an—2 S al
= 4,=—%= o= S - be (A, k).
V2 27 (2) (+2) Let O X and O’ Y be drawn parallel to and in the same
a : 10 direction as OX and OY respectively. Let P be any point in
Q= = = &= = T the plane having coordinates (x, y) referred to old axes and
(ﬁ) (\/5) 27 (X, Y) referred to new axes. Then,
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XxX=0OM=ON+NM=ON+O M

=h+X=X+h or X=x-h
and y=MP=MM +M P=NO+M P

=k+Y=Y+k or Y=y-k

Thus, the point whose coordinates were (x, y) has now the
coordinates (x — A, y — k).

TRICK(S) FOR PROBLEM SOLVING

If origin is shifted to point (h, k) without rotation of axes,
then new equation of curve can be obtained by putting x +
h in place of x and y + k in place of y

ROTATION OF AXES

Rotation of Axes without Changing
the Origin

Let OX, OY be the original axes and OX’, OY” be the new
axes obtained by rotating OX and OY through an angle 6
in the anticlockwise sense. Let P be any point in the plane
having coordinates (x, y) with respect to axes OX and OY
and (x”, y") with respect to axes OX” and OY". Then,

Y
Y A
P(x, )
x’,y)
0
x!
0 1 ~ X
o\ ~* -
Fig. 18.13

x =x" cos@—)’ sin6;, y =x’ sinf+ )’ cos@
and x" =xcosf+ysinf, ) =-xsinf+ycosd

The above relation between (x, y) and (x’, y") can be
easily obtained with the help of following table

X'— cosé sin@

y—- -sin@ cosf

Change of Origin and Rotation of Axes If origin is
changed to O (h, k) and axes are rotated about the new
origin O’ by angle 6 in the anticlockwise sense such that
the new co-ordinates of P(x, y) become (x’, y’), then the
equations of transformation will be

IHT-JEE-MATHEMATICS

MATHEMATICS

2-D

¢
GEOMETRY

Y v
N
P(x,y)
x', )
0 X
2
0 :
(h, k) !
I
jul ~
0 >X
Fig. 18.14

x =h+x"cos@—-) sinf
and y =p+x"sinf+ ) cosf

REFLECTION (IMAGE) OF A POINT

Let (x, y) be any point, then its image with respect to
(1) xaxisis (x, —y) (i1) y-axis is (=x, y)
(iii) origin is (—x, —y) (iv) line y=xis (y, x)

TRICK(S) FOR PROBLEM SOLVING

m If area is a rational number. Then the triangle cannot be
equilateral.

= If two opposite vertices of a rectangle are (x,, y,) and (x,,
y,) thenits areais | (y, —y,) (x, —x,) |.

= If two opposite vertices of a square are A(x,, y,) and
C(x, y,), then its area is

1 1
= EACz = E[(XZ _X1)2 +(y, _yi)Z]

SOLVED EXAMPLES

27. The image of the point (3, —8) under the transforma-
tion (x, y) = (2x +y, 3x—y) is

(A) (=2,17) (B) (2,17)
© (=2,-17) (D) 2,-17)
Solution: (A)

Let (x,, y,) be the image of the point (x, y) under the
given transformation.

Then, x=2x+y=2(3)-8=-2

and »,=3x-y=303)-(-8)=17

Hence, the image is (-2, 17).

28. Without changing the direction of coordinates axes,
origin is transferred to (¢, B) so that the linear terms in
the equation x* + y* + 2x — 4y + 6 = 0 are eliminated.
The point (¢, f) is

A © P STUDY CIRCLE

&)
7L
o
=
(0]
(@]
=
w
>
-
~
O
(=
=
(@)
O
=
Q0
[
28
—
ar
»
=
>
(@)
T
(0]
b3
=
Fatd
>
=
@
>
-~
ar
(0]
N
0
]
>
T




* ANITd13H

S0S0S96ELL16* // 0E19856€66716%

E P NT-NEET-CBSE
STUDY CIRCLE

ACC:NTS cDUCATIONAL PROMOTERS

29.

30.

(A) (-1,2)

© (1,2)

Solution: (A)

The given equation is
X+)yP+2x—-4y+6=0 (1)

Putting x =x"+ o, y =)'+ Bin (1), we get

X?+)y?+XQ2a+2) +y'(2B-4) +(o* + f2+20- 4

+6)=0

To eliminate linear terms, we should have 2+ 2 =0

and2-4=0

= o=-land =2

(a’ ﬁ) = (_la 2)

Let P be the image of the point (-3, 2) with respect
to x-axis. Keeping the origin as same, the coordinate
axes are rotated through an angle 60° in the clockwise
sense. The coordinates of point P with respect to the
new axes are

(B) (1,-2)
(D) -1,-2)

o 2\/5—3,_(3~/§+2)]
2 2

®) 2\/5—3,3\B+2J
B :

© _(2\/.?;-3)’3\/5;2]

(D) none of these

Solution: (A)

Since P is the image of the point (-3, 2) with respect

to x-axis, therefore, the coordinates of P are (-3, -2).
Let (x", ") be the coordinates of P with respect to

new axes. Then,

X' =xcos @+ ysin o=-3 cos (—60°) -2 sin (—60°)

__§+\/—=2\/§2-3.

V' =—xsin a+ycos a=3 sin (-60°) — 2 cos (-60°)

Y

2

Coordinates of P are {2‘/32— 3 ,_[ 3W3+2 ]]

2

A ray of light travelling along the line x+\/§y =5
is incident on the x-axis and after refraction it enters

the other side of the x-axis by turning i away from

the x-axis. The equation of the line along which the
refracted ray travels is

(A) x+~/§y—5\/§=0
(B) x-3y-5y3=0

31.

MATHEMATICS
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© \/§x+y—5\/§=0
(D) \/gx—y—S\/g:O

Solution: (C)

The refracted ray passes through the point (5, 0) and
makes an angle 120° with positive direction of x-axis

YA

\**./} \ i

N
30

. The equation of the refracted ray is (v — 0) = tan
120° (x - 5)

= y=-B3(x-5) orBx+y-5/3=0

A line L has intercepts a and b on the coordinate axes.
When the axes are rotated through an angle, keeping

the origin fixed, the same line L has intercepts p and q.
Then,

I B

A t—=—+—

( ) 2 bZ p2 q2
11 11

B) it

( ) 2 b2 p2 qZ
11 11

(©) +—=2(—+—]
2 b2 p2 q2

(D) none of these

Solution: (A)
Since the line L has intercepts @ and b on the coordi-
nate axes, therefore its equation is
X )
—+==1 (D
a b

When the axes are rotated, its equation with respect to
the new axes and same origin will become

Sl )
p 9

In both the cases, the length of the perpendicular from
the origin to the line will be same.

1
1 1 1 1
AR

1 1 1 1

or a—z b—z_?+q—2

which is the required relation.

IIT-JEE-MATHEMATICS

A c P STUDY

N
Z
Qo
)
-
O
O
=
w
>
-
-~
(0]
(=
=
0
(@)
=
-
m
=
-
L
>
Z
»r
0
-
@)
3
-~
Fad
>
=
@
>
Fd
-
(se]
N
0
N
o
T

CIRCLE




+ ANI1d13H

SO0S0S96ELL 16* // 0E19856E66716%

E P NNT-NEET-CGBSE
STUDY CIRCLE

ACC:NTS cDUCATIONAL PROMOTERS

GENERAL EQUATION OF A STRAIGHT LINE

An equation of the form: ax + by + ¢ = 0, where a, b, c are
any real numbers not all zero, always represents a straight
line.

Equation of a straight line is always of first degree in
x and y.

SLOPE OF A LINE

If a line makes an angle 0 (0 # %J with the positive direc-

tion of x-axis, the slope or gradient of that line is usually
denoted by m, i.e., tan 8= m.

TRICK(S) FOR PROBLEM SOLVING

m The slope of a line parallel to x-axis = O and perpendicular
to x-axis is undefined.

n [f three points A, B, C are collinear, then slope of AB =
slope of BC = slope of AC.

n [If aline is equally inclined to the axes, then it will make an
angle of 45° or 135° with x-axis (i.e., positive direction
of x-axis) and hence its slope will be tan 45° or tan 135°
=% 1.

= Slope of the line joining two points (x,, y,) and (x,, y,) is
given as

mei=¥e Ve~V _ Difference of ordinates
Difference of abscissae

X=Xy X=X

m Slope of the lineax+by+c=0,b # O'is —%, i.e.,

(Coefficient of x)
(Coefficient of y)'

SOLVED EXAMPLES

32. The image of the point P(3, 5) with respect to the line
y=xis the point Q and the image of Q with respect to
the line y = 0 is the point R(a, b), then (a, b)
(A) (5,3)
(B) (5,-3)
©) (-5,3)
(D) (-5,-3)

Solution: (B)
Let (x,, y,) be the image of the point P(3, 5) with
respect to the line y = x. Then, x, =35, y, = 3.

IT-JEE-MATHEMATICS
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R (a, b)

0=(,3)
Since the image of the point Q(5, 3) w.r.t. the line
y=0is (a, b).
a=5and b=-3
(a,6)=(5,-3)

INTERCEPT OF A LINE ON THE AXES

1. Intercept of a line on x-axis If a line cuts x-axis at a
point (a, 0), then a is called the intercept of the line on
x-axis. | a | is called the length of the intercept of the line
on x-axis. Intercept of a line on x-axis may be positive or
negative.

2. Intercept of a line on y-axis If a line cuts y-axis at a point
(0, b), then b is called the intercept of the line on y-axis
and | b | is called the length of the intercept of the line on
y-axis. Intercept of a line on y-axis may be positive or
negative.

Equations of Lines Parallel to Axes

Equation of x-axis The equation of x-axis is y = 0.
Equation of y-axis The equation of y-axis is x = 0.
Equation of a line parallel to y-axis The equation of

the straight line parallel to y-axis at a distance ‘a’ from it

on the positive side of x-axis is x = a.

If a line is parallel to y-axis, at a distance a from it and
is on the negative side of x-axis, then its equation is x =—a.
Equation of a line parallel to x-axis The equation of
the straight line parallel to x-axis at a distance b from it on

the positive side of y-axis is y = b.

If a line is parallel to x-axis, at a distance b from it and

is on the negative side of y-axis, then its equation is y = —b.

SOLVED EXAMPLES

33. A square is constructed on the portion of the line x +
y =5 which is intercepted between the axes, on the
side of the line away from origin. The equations to the
diagonals of the square are
(A)x=5,y=-5
B)x=5,y=5

A c P STUDY CIRCLE
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(C)x=-5,y=5
D) x-y=5x-y=-5
Solution: (B)
Clearly, the equations of the two diagonals are x = 5
andy=35.

YA

D
(0,5)B ¢
45° R
0 ANG, 0) X

34. If a straight line cuts intercepts from the axes of coor-
dinates the sum of the reciprocals of which is a con-
stant k, then the line passes through the fixed point

11
(&) (&) ®) [m)
(©) (k,—k) (D) (-, k)
Solution: (B)

Let the equation of the line be

Xy
—+==1 (D)
a b

Its intercepts on x-axis and y-axis are a and b

respectively.

Given: l+l=k

a b
= Lyloy o YVE, @)
ak bk a b

From (2) it follows that the line (1) passes through the
fixed point 1 ,l .
k k

EQUATION OF A STRAIGHT LINE IN
VARIOUS FORMS

Slope-Intercept Form

The equation of a straight line whose slope is m and which
cuts an intercept ¢ on the y-axis is given by

y=mx+tec.

If the line passes through the origin, then ¢ = 0 and
hence the equation of the line will become y = mx.

IT-JEE-MATHEMATICS
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sy

yrd

0

Fig. 18.15

Point-Slope Form

The equation of a straight line passing through the point
(x,, ¥,) and having slope m is given by

(y_yl):m(x_x])’

Two-Point Form

The equation of a straight line passing through two points
(x,, ¥, and (x,, ,) is given by

(y=y)= u(3‘7_3‘71)-
X,

XH =X

SOLVED EXAMPLES

35. In the above problem, coordinates of the point P such
that |P4 — PB| is minimum are

9 12 3 12
®) [_%’_?J ®) (20 5]

9 12 9 12
© (%"?J ) (‘%’?)

Solution: (A)

The minimum value of |P4 — PB| is zero which is
attained if P4 = PB, i.e., P must lie on the perpendicu-
lar bisector of 45.

The equation of perpendicular bisector of 4B is

1 3
——=2(x-1) or y=2x——
r=3 (x=1) y >

Solving it with the given line, we get P = (——,——]

36. Given the system of straight line a(2x + y — 3) + b(3x
+ 2y —5) =0, the line of the system farthest form the
point (4, —3) has the equation
(A)3x—4y+1=0 (B) 4x+3y-5=0
(C) Tx—y+4=0 (D) none of these

A c P STUDY CIRCLE

HIFZZ 1628 - HIVOWYY AMOHD YNVYHL X31dWOD 1aNONLYS ‘F0014 ANZ




: INI1d13H

S0S0SQ6ELL 16* // 0E19856€66716%

INT-NEET-CBSE

STUDV CIRCLE

ACC:NTS cDUCATIONAL PROMOTERS

Solution: (A)
The given system of lines pass through (1, 1)

So, the required line is the through (1, 1)} and per-
pendicular to the join of (1, 1) and (4, -3).
y—
x—

.. The equation of line is L = %, 1e,3x—4y+1=0
37. The image of the point (—8, 12) with respect to the line
mirror 4x + 7y + 13 =01s
(A) (16,-2)
(©) (16,2)
Solution: (D)
Equation of the given line is
4x+T7y+13=0 (1)
Let O (¢, B) be the image of the point P(=8, 12) w.r.t.
line (1).
Then, PQ 1 line (1) and PC = CQ.
Equation of the line PC is

(B) (-16,2)
(D) (-16,-2)

7
(y—-12)= Z(x+8)
[PC is L to the line (1) and passes through (-8, 12)]
or Tx—4y+104=0 2)
Solving Eq. (1) and (2), we get
x=—12andy=5. .. C=(-12,5)

P(-8,12)

Clax+7y+13=0

Q(a b)
Since C is mid-point of PO,
—12= (XT_S and 5 = B+12

= o=-16and f=—
0=(-16,-2).

Intercept Form

The equation of a straight line which cuts off intercepts a
and b on x-axis and y-axis respectively is given by

£+Z=1

a b

IIT-JEE-MATHEMATICS
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b
o a =

Fig. 18.16

SOLVED EXAMPLES

38. Through the point (1, 1), a straight line is drawn so as
to form with coordinate axes a triangle of area S. The
intercepts made by the line on the coordinate axes are
the roots of the equation
(A) X —|S]x +218] =
B) X +[Sx+215] =
©) x¥*-215x+21|5]=
(D) none of these
Solution: (C)

If a, b are the intercepts made by the line, then the
Yy

- . . X
equation of the line is —+ e 1.
a

Il
—_

1 1
Since it passes through (1, 1), .~ . + 5

a+b
ab
Also, area of the triangle made by the straight line
on the coordinate axes is §

%ab =|5| ie.,ab=2|S] (2)

=1 (1)

So, by (1), atb=215 3)
From (2) and (3), the intercepts @ and b are the
roots of the equation x> — 2 S| x + 2 |S| =

39. A line passing through the point P(4, 2), meets the
x-axis and y-axis at A and B respectively. If O is the
origin, then locus of the centre of the circum circle of
AOAB 1s
A)yxt+y't=2
O xt+2yt=1
Solution: (B)

Let the coordinates of 4 and B be (a, 0) and (0, b)

(B) 2xt+yt=1
(D) 2 + 2y =

respectively.
Then, equation of line AB is
£ + Z =1
a b
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Since, it passes through the point P(4, 2)

Y N
(0, »)B
0 A(a, 0)
4 2
—+—-=1 1
_—_ (1)
Now, centre of the circumcircle of AOAB = [%,g]
. . 2 1
So, Eq. (1) can be written in the form — +—=1
al2 b/2

.. locus of circumcentre is %+ & =lor2x"+y'=1
Xy

40. If the equal sides 4B and AC (each equal to @) of a
right angled isosceles triangle ABC be produced to P
and @ so that BP x CQ = AB?, then the line PQ always
passes through the fixed point
(A) (a,0) (B) (0,a)
(©) (a,a) (D) none of these
Solution: {C)

‘We take A as the origin and AB and AC as x-axis and
y-axis respectively.

Let AP=h,AQ =k
Equation of the line PQ is
¥
00, k)
0,09)C
A4 B P g
(a,0) (£,0)
x ¥
2e2oy ()
h k

Given, BP x CQ = AR?
= (h—a)(k—a)=ad
= hk—ak—ah+a*=a*> or ak+ha=hk
or A 2
T 1 (2)
From (2), it follows that line (1) i.e., PO passes
through the fixed point (a, a).

IIT-JEE-MATHEMATICS
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Normal Form (or Perpendicular Form)

The equation of a straight line upon which the length of the
perpendicular from the origin is p and the perpendicular
makes an angle a with the positive direction of x-axis is
given by

Y

~

Fig. 18.17
X cos a+ysin a=p.

In normal form of equation of a straight line p is always
taken as positive and e is measured from positive direction
of x-axis in anti-clockwise direction between 0 and 27

Parametric Form (or Symmetric Form)

The equation of a straight line passing through the point
(x,, ¥,) and making an angle & with the positive direction
of x-axis is given by

X=X Y=

= = r
cos@  sin®

where r is the distance of the point (x, y) from the point (x , ).

Y
A
P(x,y)
Plxy,p1)
¢
- X
o /
Fig. 18.18

TRICK(S) FOR PROBLEM SOLVING

The coordinates (x, y) of any point P on the line at a distance
r from the point A(x,, y,) can be taken as

(x, +rcos@ y, +rsing)
or (x, —rcos@, y, —rsing)

where the line is inclined at an angle 8 with x-axis

SOLVED EXAMPLES

41. A line joining two points A(2, 0) and B(3, 1) is rotated
about 4 in anticlockwise direction through an angle
15°. If B goes to C in the new position, then the coor-
dinates of C are

A P STUDY CIRCLE
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3 3 Clearly y 2 2.
(A) [z,,/—] ®) (2,—,/5J y
2 A

1 /3 s P
(©) [2 + E , \/; ] (D) none of these 3075
Solution: (C) 10.2)
YA )
&
BG.1) 0 i
150 Also, y-axis is the bisector of the angle between
the two lines. P, P, are two points on these lines, at a
45° s distance 5 units from 4. Q is the foot of the L from P,
O] 42,0 X and P, on the bisector (y-axis).
) Then, the coordinates of Q are (0, 2 + 5 cos 30°)
Slope of line &
5V3 1
AB=O_1=1=tan45° =[0,2+—']=(0,—(4+5\/§)J
2_3 2 2
- £BAX =45°.
m Given ZCAB = 15°. 43. If the straight line drawn through the point P(x/i, 2)
- LCAX=60°. and making an angle "= with the x-axis meets the line
z . Slope of line AC = tan 60° =+/3. _
< Now, line AC makes an angle of 60° with positive V3x—4y+8=0 at 0, then the length of PQ is
direction of x-axis and (a) 4 (b) 5

AC = AB=4(3-2)* +(1-0)* =2 (c) 6 (d) none of these

Solution: (C
. Coordinates of C are (2 ++/2 cos 60°,0 ++/2 sin 60°) The giverf lizle is

) 1 3 P({3,2)
1.e., 24—, |—
[255+)

42. P is a point on either of the two lines y— NG) |x| =2 at
a distance of 5 units from their point of intersection.

The coordinates of the foot of the perpendicular from Q0 Bx-4y+8=0
Pon _the bisector of_ the angle between them are Bx-4 y+8=0 (1)
(A) 0,%(4 +5M3)| or [0,%(4 =543 )] depend- Let PO=r

Then, the coordinates of Q are

SO0S0SQ6ELL 16* // OEL98S6E66 16+

i;lg on which line the point P is taken

(B) —0,%(4+5\/§)

T . T \/3 4
3+ _’2+ — 3 ,2+_
(\/_ I‘COS6 rsin 6J or [\/— 7 r ZJ

" i .
©) 0,5(4 -5V3 ) Since the point Q lies on the given line,
o) |2 53 B \/§+£r —4(2+ﬁ)+8=o
2 2 2 2
Solution: (B) = 6+3r-16-4r+16=00rr=6
Equation, of two lines are Hence, PO =6
y= Bx+2, if x20 44. A line is drawn from the point P(cr, f), making an
_ angle @ with the positive direction of x-axis, to meet
and y==3x+2, if x20 the line ax + by + ¢ = 0 at Q. The length of PQ is

N
Zz
o
N
(0]
O
Eac/
(7]
r
-
~
(@)
=
=
0
O
=
0
m
==
—_
1=
>
Z
>
(@]
3z
O
=
e
7
>
=
@
b
)
3
o
<)
0
N
=
T
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ac +bf +c¢ aa+bf+c
A ————— B) |—/—
(A) acos® +bsinf (B) Nat + b
© ao+bf+c (D) none of these

acosd +bsind

Solution: (A)
Equation of a straight line passing through the point
P(c, B) and making an angle @ with positive direction
of x-axis is
x—a _y-pf
cosf  sin@

=7 (say)

Coordinates of any point on this line are
(et + ¥ cosé, B+ rsinb)

If it lies on the line ax + by + ¢ =0, then
a(o+rcos@) +b(f+rsinf) +c=0

ac+bp+c
= r=—+
acos@ +bsing
Thus, PO=r=— ao +bfi+c

acos@ +bsinf

REDUCTION OF THE GENERAL EQUATION
TO DIFFERENT STANDARD FORMS

Slope-Intercept Form: The general form,
Ax + By + C = 0, of the straight line can be reduced to the
form y = mx + ¢ by expressing y as

A C
y=——X——=mx+c
B B
where m =——a1ndc=—g
B B

Thus, slope of the line Ax + By + C=0is

cofficient of x A

- cofficient of y B

Intercept Form

The equation Ax + By + C =0 can be reduced to the form

X +% =1 by expressing it as
a

Ax + By=-C

A B
or ——x——y=1, where C#0
c C

or _ig+_%:—l, which is of the form §+X:1,
A B

C C . .
where a = i and b = e are intercepts on x-axis and

y-axis, respectively.

IHT-JEE-MATHEMATICS
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TRICK(S) FOR PROBLEM SOLVING

Intercept of a straight line on x-axis can be found by putting
y = 0 in the equation of the line and then finding the value
of x. Similarly intercept on y-axis can be found by putting x =
0 in the equation of the line and then finding the value of y.

Normal Form

To reduce the equation Ax + By + C = 0 to the form x cos
o+ y sin o = p, first express it as

Ax + By =-C (N
CASE 1. If C <0 or —C > 0, then divide both sides of Eq. (1)
by V4% + B*, we get
A - B ye- C
VA +B £+ A+

which is of the form x cos ¢+ y sin ¢ =p,
B

VA + B?

where, cosa = sina =

N
NV
&
N

CASE 2. If C > 0 or —C < 0, then divide Eq. (1) by

—NA*+ B, we get

4 B C
Ja+p Vg VLB

and

which is of the form x cos &+ y sin & =p,

B
where cosq = ————, singt = ————
VA + B VA  + B
and =

p:—
VA + B

ANGLE BETWEEN TWO INTERSECTING
LINES

The angle & between two linesy =mx +c and y = mx +
c, is given by

tanf =+ 1"

1+ mm,

provided no line is perpendicular to x-axis and the acute
angle @1is given by

m,—m
1+mm,

2

tanf =

A c P STUDY CIRCLE
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TRICK(S) FOR PROBLEM SOLVING
m If both the lines are perpendicular to x-axis, then the
angle between them is 0°.

m If slope of one line is not defined (one of the lines is
perpendicular to x-axis and other makes an angle @ with
the positive direction of x-axis), then angle between them
=m-0.

= The two lines are parallel if and only if m, =m.,.

= The two lines are perpendicular if and only if m, X m,=-1.

SOLVED EXAMPLE

45, Number of equilateral triangles with y = J3 (x-1)+2
and y= 3x as two of its sides, is

(A)O (B) 1

(C)2 (D) none of these
Solution: (D)

The sides are,

y:\/g(x—l)+2 andy:—\/gx

N9

\
NN
L Y
- \
NN N
\ ' "
LY T §
s 'y \
Y
*,
N

The two lines are at an angle of 60° to each other.
Now any line parallel to obtuse angle bisector will make
equilateral triangle with these lines as its two sides.

CONDITION FOR TWO LINES TO BE
COINCIDENT, PARALLEL, PERPENDICULAR
OR INTERSECTING

Two linesax + by + ¢, =0and ax + b,y +c,=0are
- 4
1. Coincident, if — =

a b ¢
2. Parallel, if - =—"1=—";
aZ 2

3. Perpendicular, ifaa, +bb,=0;

a b . L.
4. Intersecting, if —# — i.e., if they are neither coinci-
aZ
dent nor parallel.

IIT-JEE-MATHEMATICS
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EQUATION OF A LINE PARALLELTO A
GIVEN LINE

The equation of a line parallel to a given line ax + by + ¢ =
0is ax + by + k=0, where £ is a constant.

WORKING RULE

= Keep the terms containing x and y unaltered.
m Change the constant.

m The constant k is determined from an additional condition
given in the problem.

Thus, the equation of any line parallel to 2x - 3y + 5=0
is2x -3y +k=0.

SOLVED EXAMPLES

46. The vertices of a AOBC are O (0, 0), B(-3, —1) and
C(-1, =3). The equation of a line parallel to BC and
intersecting sides OB and OC whose distance from the

NP
originis — is
2

(A) x+y+L=0

1
——=0
JE (B) X+y JE

(© x4y-3=0 (D) w+y+2=0
Solution: (A)
The equation of line BC is
x+y+4=0
Equation of a line parallel to BC is
x+ty+k=0

w . 1 5 s
This is at a distance > from the origin.

L’_l
2| 2
k=to

V2
Since BC and the required line are on the same

side of the origin

1
k=—
V2

Hence, the required line is x+y +—==0.
¥ 2

47. The distance of the point (2, 3) from the line 3x + 2y =
17, measured parallel to the linex —y =4 is
(A) 42 (B) 52
© 2 (D) none of these

A © P STUDY CIRCLE
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Solution: (C)

Coordinates of any point on the line through (2, 3) and
parallel to the line x — y = 4, at a distance r, are

(2 + r cosB, 3 + rsinf), where tan 6= 1.

A4(2,3)

3x+2y=17

If this point lies on the line 3x + 2y =17,
then 3(2 +rcosf) +2(3 +rsinf)=17

=% 6+3r-L+6+2r-L=17 =

V2 V2
= r=12

EQUATION OF A LINE PERPENDICULAR TO
A GIVEN LINE

The equation of a line perpendicular to a given line
ax + by +c=01s bx —ay + k=0, where k is a constant.

m Interchange the coefficients of x and y and change the
sign of one of them.

s Change the constant.

= The value of k can be determined from an additional con-
dition given in the problem.

POINT OF INTERSECTION OF TWO
GIVEN LINES

Let the two given lines be
ax+by+c =0andax+b,y+c,=0.

Solving these two equations, the point of intersection
of the given two lines is given by

bec, —b,c, c¢a,—c,aq,
ab, —a,b, " ab, —a,b,

CONCURRENT LINES

The three given lines are concurrent if they meet in a point.

IIT-JEE-MATHEMATICS

MATHEMATICS
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WORKING RULE TO PROVE CONCURRENCY

Following three methods can be used to prove that the three
lines are concurrent:

= Find the point of intersection of any two lines by solving
them simultaneously. If this point satisfies the third equa-
tion also, then the given lines are concurrent.

= The three lines
P=ax+by+c =0Q=ax+b,y+c,=0,
R=ayxx + b,y + ¢, =0 are concurrent if

m The three lines P =0, Q = 0 and R = O are concurrent if
there exist constants /, m and n, not all zero at the same
time, such that

IP+ mQ + nR=0.
This method is particularly useful in theoretical results.

SOLVED EXAMPLE

48. If l,l,l are in A.P, then the straight line
a b c
—+Z +l—0always passes through a fixed point,
a c
that point is
(A) (-1,-2) B) -1,2)
1
©) (1,-2) (D) (1’_5J
Solution: (C)
Since l,l,l are in A.P.
a:b ¢
- 1,12 (1)
a c b
The given line is £+Z+l=0
a b c
x y (2 1 ;
= —+=+|———|= Using (1
i (b a) [Using (1)]

= La-D+=(y+2)=0
a a

= The given line passes through the point of inter-
sectionof x—1=0and y+2=01i.e., (1,-2) which is
a fixed point.

POSITION OF TWO POINTS RELATIVETO A
LINE

Two points (x, y,) and (x,, y,) are on the same side or on
opposite sides of the line ax + by + ¢ = 0 according as the

A P STUDY CIRCLE
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expressions: ax, + by, + ¢ and ax, + by, + ¢ have same sign
or opposite signs.

SOLVED EXAMPLES

49. The point (1, B) lies on or inside the triangle formed by
the lines y = x, x-axis and x + y = 8, if
(A)0<fg<l1 (B) 061
(C)0<p<8 (D) none of these
Solution: (B)

The point (1, f) lies on the line x = 1, for all real f.
Clearly, from the figure, it will lie on or inside the tri-
angle formed by the given lines if 0 < S< 1.

YA

>

[@] y=0 X-axis

50. Let P(2, 0) and Q(0, 2) be two points and O be the
origin. If A(x, y) is a point such that xy > 0 and x + y <
2, then

(A) A cannot be inside the AOPQ

(B) A lies outside the AOPQ

(C) A lies either inside AOPQ or in the third quadrant
(D) none of these

Solution: (C)

Since xy > 0, therefore the point A lies either in the
first quadrant or in the third quadrant. Since x +y < 2,
therefore the point A4 lies either inside the AOPQ or in
the third quadrant.

LENGTH OF PERPENDICULAR FROM A
POINT ON A LINE

The length of the perpendicular from the point (x,, y,) to
the line ax + by + ¢ = 0 is given by

_ lax +by +¢|
Ja® + b’ .
Corollary The length of the perpendicular from the origin
(0,0)onthe lineax+ by +c=01is

|lax0+bx0+c| _ |c]
Ja’ + b Ja* +b
IHT-JEE-MATHEMATICS

MATHEMATICS
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m Make the R.H.S. of the equation of the line zero by trans-
posing every term to LH.S.

= On the LH.S, replace x by x, and y by y..

= Divide by \/(coeff. of x)* + (coeff. of y)%.
= Take the modulus of the expression thus obtained. This
will give the length of the perpendicular.

SOLVED EXAMPLES

51. If P and Q are two points on the line 4x + 3y +30=0
such that OP = OQ = 10, where O is the origin, then
the area of the AOPQ is

(A) 48 (B) 16

(C) 32 (D) none of these
Solution: (A)
Let OR L PQ.
Then, OR = | 4(0)+3(0)+30| _ 30 _
A16+9 5
0 (0,0)
10 10
4x+3p+30=0
P R 0
PR =~OP* -~ OR? =100-36 and
PQ=2PR=16

Area of AOPQ = %XPQXOR
1
=—x16x6=48
2

52. On the portion of the straight line x + y = 2 which is
intercepted between the axes, a square is constructed
away from the origin, with this portion as one of its
side. If p denotes the perpendicular distance of a side
of this square from the origin, then the maximum

value of p is

INING) (B) 22
©) 342 (D) 442
Solution: (C)

p=0N=0M+ MN =1 distance from

A c P STUDY CIRCLE
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¥ A C
242 2"5
0,2)B D
23 N
o A(2,0) )?
O to the line AB + AD
=%+2\/§=\/5+2J§=3x/5

DISTANCE BETWEEN TWO PARALLEL LINES

The distance between two parallel lines ax + by + ¢, =0 and
ax + by + ¢, =0 is given by

NOTE

The distance between two parallel lines can also be obtained
by taking a suitable point (take y = O and find x or take x =
O and find y¥) on one straight line and then finding the length
of the perpendicular from this point to the second line.

TRICK(S) FOR PROBLEM SOLVING

m Area of a parallelogram or a rhombus, equations of whose
sides are given, can be obtained by using the following
formula

Area = %,

sin@

where p, = DL = distance between lines AB and CD,
p, = BM = distance between lines AD and BC,

8 = angle between adjacent sides AB and AD.

M
7]
A
Fig. 18.19
IHT-JEE-MATHEMATICS
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In the case of a rhombus, p, = p,. Thus,

p:
sin@

m Area of rhombus =

Also, area of rhombus = %c.ﬁdz

where d, and d, are the lengths of two perpendicular diag-
onals of a rhombus.

SOLVED EXAMPLE

53. The diagonals of the parallelogram whose sides are Ix
+tmy+n=0,c+tmy+n =0, mx+ly+n=0,mx+1ly
+n" =0 include an angle

s T
® Z ® =
©) tan” [—’2"""2} o) tan‘[ f"’"zJ
I’ 2 " +m
Solution: (B)

+m
Since the distance between the parallel lines Ix + my
+n=0and [x + my +n" =0 is same as the distance
between the parallel lines mx + Iy + n =0 and mx + Iy
+ n” = 0. Therefore, the parallelogram is a rhombus.
Since the diagonals of a thombus are at right angles,

therefore the required angle is %

EQUATIONS OF STRAIGHT LINES
PASSING THROUGH A GIVEN
POINT AND MAKING A GIVEN
ANGLE WITH A GIVEN LINE

The equations of the striaght lines which pass through a
given point (x, y,) and make a given angle ¢ with the given
straight line y = mx + ¢ are

mTtana
Y=W=7= (x—x)
lFmtana

REFLECTION ON THE SURFACE

Here, 1P = Incident Ray
PN = Normal to the surface
PR = Reflected Ray

Then, ZIPN = ZNPR

Angle of incidence
= Angle of reflection

A c P STUDY CIRCLE
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Fig. 18.20

SOLVED EXAMPLE

54. A ray of light is sent along the line which passes
through the point (2, 3). The ray is reflected from the
point P on x-axis. If the reflected ray passes through
the point (6, 4), then the coordinates of P are

26
) (30] ®) ( )

(C) [—E 0] (D) none of these

Solution: (A)

Let P = (e, 0).

Let the reflected ray makes an angle 6 with +ve direc-
tion of x-axis, then the incident ray makes angle

(m— 6) with positive direction of x-axis.

The slope of the incident ray is

YI\
\ (6,4)
2,3)
2 (2 .
0 P X
(o, 0)
=-(ﬁ=tan(fr—9) i.e.,tan6=i- (1)
o-2 a-2
The slope of the reflected ray is
:ﬂ=tan6 ie,tan@ I (2)
6-a 6-—«a
From Eq. (1) and (2), we get
3 4

——=—— = 18-3a=4a-8

= 7a=26ora=é

The coordiantes of 4 are (?,0).

IHT-JEE-MATHEMATICS
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IMAGE OF A POINT WITH
RESPECT TO A LINE

1. The image of a point with respect to the line mirror.
The image of A(x , y,) with respect to the line mirror ax +
by + ¢ =0 be B(h, k) given by,

h=x, _k=y, _=2(ax, +by +c)

a b a’ +b’

A(xy, y1)

Nax+bx+e=0
Y

B(h, k)
Fig. 18.21
2. The image of a point with respect to x-axis: Let P(x, y)
be any point and P'(x’, y") its image after reflection in the

x-axis, then
X' =xandy’ =—y, (" O is the mid point of PP’)

Y

Px',y')
Fig. 18.22

3. The image of a point with respect to y-axis: P(x, y) be
any point and P’(x’, ') its image after reflection in the
y-axis, then
X'=—xand ) =y (" O is the mid point of PP")

Yl
4
P'(x', ') P(x, yg
Ol
X' 0 - X
Y
Fig. 18.23
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4. The image of a point with respect to the origin: Let
P(x, y) be any point and P'(x’, ") be its image after reflec-
tion through the origin, then
x'=—xandy =—y (" O is the mid-point of PP’)

Y
P(x, y)
1
' N r:
X 4 X
P'(x',»")
Yﬂ
Fig. 18.24

5. The image of a point with respect to the line y =x: Let
P(x, y) be any point and P'(x", )} be its image after reflec-
tion in the line y = x, then,
x"=yandy =x (- O is the mid-point of PP’)

Y
b Bty

Fig. 18.25

6. The image of a point with respect to the line y = x tan8
: Let P(x, y) be any point and P’(x’, )’} be its image after
reflection in the line y = x tan8, then,

Y
T P,y

~ \Of
y=xtan9“' P(X,y)
o

YF
Fig. 18.26

x'=xcos20+ysin28
' =xsin 26—y cos 26,
(" O is the mid-point of PP”)

EQUATIONS OF THE BISECTORS OF THE
ANGLES BETWEEN TWO LINES

The equations of the bisectors of the angles between the
linesax+by+c =0and ax+b,y+c,=0are given by

IIT-JEE-MATHEMATICS
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ax+by+e, _+a2x+bzy+cz
N N P
NOTE

Any point on a bisector is equidistant from the given lines.

Equation of the Bisector of the Acute and Obtuse Angle
between Two Lines Let the equations of the two lines be

ax+by+c =0 0]
and ax+by+c=0 @

where ¢, > 0 and ¢, > 0.
Then the equation

ax+by+c
— % LY TG

ax+by+c
2 2 2 2
o +b; Na, +b;

is the bisector of the acute or obtuse angle between the
lines (1) and (2) according as a,a, + b b, <0 or > 0.
Similarly, the equation

ax+by+ec  ax+by+c,
2 2 2 2
\/al +b \/a2+b2

is the bisector of the acute or obtuse angle between the
lines (1) and (2) according as a.a, + b b, > 0 or < 0.

SOLVED EXAMPLE

55. The point (3, 2) is reflected in the y-axis and then
moved a distance 5 units towards the negative side of
y-axis. The coordinates of the point thus obtained are

(A) 3,-3) (B) (3,3)

©) G3.3) D) 3,-3)

Solution: (D)

Reflection in the y-axis gives the new position as (-3, 2).
AY

0(3.2)

xP(3,2)

Q
B W

R
(3,-3)

When it moves towards the negative side of y-axis
through 5 units, then the new position is (-3, 2 — 5)
ie., (3,-3).

A P STUDY CIRCLE

HIFZZ 1628 - HIYOWYYE HMOHD VNYHL X31dWOD IANOALYS ¥001d NZ



MATHEMATICS
NT-NEeT-CBSE e 2 D
STUDV CIRCLE GEOMETRY

ACC:NTS cDUCATIONAL PROMOTERS

TRICK(S) FOR PROBLEM SOLVING for different values of p and g.
Solving (1) and (2), we get the coordinates of the point

If a,a, + b,b, > O, then the origin lies in obtuse angle and if 23
a,a, + b,b, <0, then the origin lies in acute angle. of intersection as [—,—J.
55

EQUATIONS OF LINES PASSING THROUGH 38 If @ S+ 7= 0, the line 3cux + By + 27 = 0 passes

through the fixed point
THE POINT OF INTERSECTION OF TWO > ) £ ’
GIVEN LINES (A) [2,5) (B) [§,2J
The equation of any line passing through the point of 2
intersection of the lines ax + b,y + ¢, =0 and a,x + b,y © |23 (D) none of these
tec,=0is Solution: (B)
(ax+bytc)tklaxtbytc)=0, The given line is 3ax + By +27=0
where £ is a parameter. The value of & can be obtained by = 3ox+By+2(a-B)=0(: a+f+y=0)
using one more condition which the required line satisfies. = a@Bx-2)+B(r-2)=0

= the given line passes through the point of inter-

SOLVED EXAMPLES section of the lines 3x—2=0andy—-2=01i.., (% , 2),

for all values of erand S.
56. If a, b, ¢ are three terms of an A.P., then the line ax +
by+c=0

59. The number of integer values of m, for which the x-co-

T L ordinate of the point of intersection of the lines 3x + 4y
m (A) has a fixed direction ; : :
(= . =9 and y = mx + 1 is also an integer, is
- (B) always passes through a fixed point A) 2 i ]_f 0
z (C) always cuts intercepts on the axes such that their (C) 4 (B) i
¢ sum is zero © D)
* (D) forms a triangle with the axes whose area is Solution: (A)
— constant. The given lines are
o Solution: (B) 3x+4y=9 (1)
w par
0 Let a, b, ¢ be pth, gth and rth terms of an A.P. whose and ) y=mx+l _ (2)
o) : : : : Solving (1) and (2), we get the x-coordinate of the L)
! first term is 4 and common difference is d. The given g ’ g Z
= line is point of intersection as x = : =
o ax+by+c=0 ) . o 4m+3 o)
N = [A+@p-Ddlx+[A+(@-Ddy+[d+F-1) Since x-coordinate is an integer, o
+ d]=0 dm+3=+5 or dm+3==%1. -
_B = Ax+y+D+d((p-Dx+(g-Dy+r-1)=0 Solving these, only integer values of m are —1 and —2. >
3 = The given line passes through the point of inter- m=—1,-2 8
& section of linesx+y+1=0and (p-Dx+(g—1)y+ =
o r—1=0, which is a fixed point. STANDARD POINTS OF A TRIANGLE A
S 57. The line (p + 2q) x + (p — 3q)y = p — g for different . . g
o values of p and g passes through the fixed point Centroid of a Tr'a“gle o
m
(A) 35 (B) 22 The point of intersection of the medians of the triangle is 2
2’2 5’5 called the centroid of the triangle. The centroid divides the T
33 23 medians in the ratio 2 : 1 (2 from the vertex and 1 from the %
© (g,g) (D) (E’gj opposite side). >
A(x, ) 9
Solution: (D) (@]
The equation of the given line can be re-written as ﬁ
px+y—1)+g2x-3y+1)=0 F =
which, clearly, passes through the point of intersection C (x5 3) §
of the lines D ©
x+y—1=0 (1) B (5 ,) %
and 2x-3y+1=0 (2) Fig. 18.27 .
R
2
o)
>
T
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The coordinates of the centroid of a triangle with vertices
(x,, ¥)s (x,, ,) and (x,, y,) are

(x, +X, 4%, W +y2+y3]

’

3 3

SOLVED EXAMPLE

60. If the vertices P, O, R of a APQOR are rational points,
which of the following points of the APQOR is (are)
always rational point(s)?

(A) centroid (B) incentre
(C) circumcentre (D) orthocentre
(A rational point is a point both of whose coordinates
are rational numbers)
Solution: (A)
LetP=(x,,y), Q=(x,,),); R=(x,,,), where x, y, (i
=1, 2, 3) are rational numbers.
Now, the centroid of APQR is

(x, +X, 4%, W +y2+y3j

)

3 3

which is rational point. Incentre, circumcentre and
orthocentre depend on sides of the triangle which may
not be rational even if vertices are so. For example, for

P(0, 1) and O(1, 0); PQ =+/2.

Incentre of a Triangle

The point of intersection of the internal bisectors of the
angles of a triangle is called the incentre of the triangle.
The coordinates of the incentre of a triangle with verti-

ces (x,, y,), (x,, »,) and (x,, y,) are

Fig. 18.28

ax, +bx, +cx; ay, +by, +cy,
a+b+c a+b+c

TRICK(S) FOR PROBLEM SOLVING
The incentre of the triangle formed by (O, 0), (a, O) and

(O, b) is

[ ab ab ]
a+b+va?+b* a+b+a +b?

IT-JEE-MATHEMATICS

MATHEMATICS

2-D

¢
GEOMETRY

Ex-centres of a Triangle A circle touches one side outside
the triangle and the other two extended sides then circle is
known as excircle.

Let ABC be a triangle then there are three excircles,
with three excentres /,, /,, I, opposite to vertices 4, B and C
respectively. If the vertices of triangle are 4 Zpy)sB (x5
»,) and C (x,, y,) then

Fs —ax, +bx, +cx, —ay, +by, +cy,
: —a+b+c —a+b+c

I, =

ax, —bx, +cx, ay, —by, +cy,
a-b+c a-b+c

I - ax, +bx, —ex, ay, +by,—cy,
: a+b-c a+b-c

Circumcentre The circumcentre of a triangle is the point
of intersection of the perpendicular bisectors of the sides of
a triangle. It is the centre of the circle which passes through
the vertices of the triangle and so its distance from the ver-
tices of the triangle is same and this distance is known as
the circum-radius of the triangle.

Fig. 18.29

TRICK(S) FOR PROBLEM SOLVING
= The circumcentre of a right angled triangle is the mid
point of its hypotenuse.

= The circumcentre of the triangle formed by (O, 0), (x,, y,)
and (x,, y,) is

[n(xf + ) =y +y2) X% +yR) =X, + yé)]
2(x1}/2 = XzY1) 2(X2y1 = X|.V2)

WORKING RULE TO PROVE CONCURRENCY

n LetA(x,, y,), B(x,, y,) and C(x,, y,) be the vertices of the
AABC and let circumcentre be P(x, y). Then (x, y) can be
found by solving

(OA)? = (0B)2 = (0C)*

or Pe=% 2+ (p=34)* = E=x )2+ (y—¥,)*

= (x-x)*+ (y-y,)°

m Let D, E and F be the mid-points of the sides BC, CA and
AB of the AABC respectively.

A c P STUDY CIRCLE
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Then, OD L BC, OE L AC, OF L AB. Solving any two of these, we can get coordinates of O.
Ax, yp) = (a) Write down the equations of any two sides of the
triangle.
(b) Find the equations of the lines perpendicular to these
two sides and passing through the opposite vertices.
(c) Solve these equations to get the coordinates of the
orthocentre.
» If angles A, B and C and vertices A(x,, y,), B(x,, y,) and
C (x5 y3) Clx,, y,) of a AABC are given, then orthocentre of AABC

(5 ) is given by
Fig. 18.30
slope of OD x slope of BC = —1 [x1 tan A+ x, tanB + x, tanC
slope of OF x slope of AC =—1 tanA+tanB +tanC
slope of OF x slope of AB =—1 y,tanA+ y,tanB + y, tanC)
Solving any two of the above equations, we get the cir- tanA +tanB + tanC

cumcentre (x, y).

m (a) If the equations of the three sides of the triangle are
given, first of all find the coordinates of the vertices TRICK(S) FOR PROBLEM SOLVING
of the triangle by solving the equations of the sides
of the triangle taken two at a time. = If any two lines out of three lines, i.e., AB, BC and CA are
r:E\ (b) Find the coordinates of the middle points of two p_erpendlcutar. then .orthoc_entre is the point of intersec-
— : . tion of two perpendicular lines.
e sides of the triangle. : . ) .
=z (c) Find the equations of the perpendicular bisectors of = The o:;chocentre‘ of the triangle with vertices (0, 0), (x;,
m these two sides and solve them. This will give the ¥;) and (x y,) is
o coordinates of the circumcentre of the triangle.
¥ . X =N, XX 0
© = If angles A, B, Cand vertices A(x,, y,), B(x,, y,) and C(x,, D=2 =) | ———— |-
% y,) of a AABC are given, then its circumcentre is given by NI —h), 12 %)
0
gg x,sin2A + x, sin2B + x, sin2C = The orthocentre (O), centroid (G) and circum centre (C)
[ sin2A+sin2B+sin2C of any triangle lie in a straight line and G divides the join )
o y,sin2A+y,sin2B+ y, sinZC] of O and.C in the-rat|o 2:1. o z
w Sin2A + sin2B + sin2C = Inan qullateral trlalng!e. orthocentre, centroid, circumcen- -
= tre and incentre coincide. (0]
> (0]
S~ bl
v ORTHOCENTRE 4 %
— >
. -
X The orthocentre of a triangle is the point of intersection of S
w altitudes. =
© =
A TRICK(S) FOR PROBLEM SOLVING J 0
b (@)
8 m Let O be the orthocentre. Since AD L BC, BE L CAand CF Fi <
[ L AB, then E
OA L BC s >
OB 1 CA il =
and OC 1 AB B D H c >
A Fig. 18.32 &
¢
COORDINATES OF NINE POINT CIRCLE @)
F, E : . . 2
If a circle passes through the feet of perpendiculars (i.e., A
D D, E, F), midpoints of sides BC, CA, AB respectively (i.e., >
H, I, J) and the midpoints of the line joining the ortho- =
B D C centre O to the angular points 4, B, C (i.e.,, K, L, M), thus §3
Fig. 18.31 the nine points D, E, £ H, 1, J, K, L, M, all lie on a circle. e
e
N
)
N
o
T
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This circle is known as nine point circle and its centre is
called the nine-point centre.

@IMPORTANT POINTS

m The orthocentre (O). Nine point Centre (N), Centroid (G)
and Circumcentre (C) all lie in the same striaght line.

= The Nine point centre bisects the join of Orthocentre (O)
and Circumcentre (C)

m The radius of Nine Point Circle is half the radius of

\_ Circumcirle.

SOLVED EXAMPLE

61. If the equations of the sides of a triangle are x + y =2,
y=xand NE) 3y +x =0, then which of the following is
an exterior point of the triangle?

MATHEMATICS

€ 2-D
GEOMETRY
(A) orthocentre (B) incentre
(C) centroid (D) none of these

Solution: (A)

The lines y = x and \ﬁy-kx =0, are inclined at 45°
and 150°, respectively, with the positive direction of
x-axis. So, the angle between the two lines is an obtuse
angle. Therefore, orthocentre lies outside the given
triangle, whereas incentre and centroid lie within the
triangle (In any triangle, the centroid and the incentre
lie within the triangle).

EXERCISES

Single Option Correct Type

1. If one of the diagonals of a square is along the line x =
y and one of its vertices is (3, 0), then its side through
this vertex nearer to the origin is given by the equation.
(A)y-3x+9=0
(B) 3y+x-3=0
(C)x-3y-3=0
(D) 3x+y-9=0

2. Through the point P(q, ), where aff > 0 the straight

line X+ =1 is drawn so as to form with coordinate
a

axes a triangle of area S. If ab > 0, then the least value

of Sis

(A) af (B) 2ap

(C) 4B (D) none of these

3. A line joining two points 4 (2, 0) and B (3, 1) is rotated
about A4 in anti-clockwise direction through an angle
15°. If B goes to C in the new position, then the coor-
dinates of C are

N

©) [2 + %, \/g } (D) none of these

IIT-JEE-MATHEMATICS

4. Pisa point on either of the two lines y — J3 |x|=2 ata

distance of 5 units from their point of intersection. The
coordinates of the foot of the perpendicular from P on
the bisector of the angle between them are

[ 1 ] 1
(A) 0,5(4+5\/§) or {0,5(4—5\@)} depend-
ing on which line the point P is taken

(B) 0,%(4+5«/§)

© _0,5(4—5\6)_

:5 53
®) 5’7}

. A string of length 12 units is bent first into a square

PQORS and then into a right-angled APQT by keeping
the side PQ of the square fixed and other is one more
than its side. Then, the area of PORS equals

(A) ar (APQT) B) 2-ar (APOT)
(C) 2 - ar (APQT) (D) none of these

. The condition to be imposed on  so that (0, ) lies

on or inside the triangle having sides y + 3x +2 =0,
Jy—2x—5=0and4y+x-14=0is

A P STUDY CIRCLE
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(A) 0<p<> B) 0<p<_
3 2
5 7
©) o <B< 5 (D) none of these
7. The point (1, B) lies on or inside the triangle formed by
the lines y = x, x-axis and x + y = 8, if
A)0<g<1 (B 0<fg=<1
(C)0<pg<8 (D) none of these
8. A ray of light travelling along the line x++/3 y=5
is incident on the x-axis and after refraction it enters
the other side of the x-axis by turning — away from
the x-axis. The equation of the line along which the
refracted ray travels is
(A) x+\/§y—5\/§ =0
(B) x—3y-5V3=0
(€©) V3x+y-5V3=0
(D) Bx—y-353=0
9. A ray of light is sent along the line which passes
through the point (2, 3). The ray is reflected from the
point P on x-axis. If the reflected ray passes through
the point (6, 4), then the coordinates of P are
26 26
@ (2.0) ®) ( )
7
(©) (—— OJ (D) none of these
7
10. A line passing through the point P (4, 2), meets the
x-axis and y-axis at A and B, respectively. If O is the
origin, then locus of the centre of the circum circle of
AOAB is
(A)Jr1+y*1—2 (B) 2x'+y'=1
Oy x'+2p1=1 (D) 2x'+2y'=1
11. If the point (2 cos@, 2 sind) does not fall in that angle
between the lines y = |x — 2| in which the origin lies
then & belongs to
m 3w
A) | =,— -, =
@ (2Z) ® (-2.2)
(C) (0, m) (D) none of these
12. Ifthe equations of the sides of a triangle are x + y =2,
y=ux and NG 3y +x =0, then which of the following is
an exterior point of the triangle?
(A) orthocentre (B) incentre
(C) centroid (D) none of these
13. A line is drawn from the point P(&, ), making an
angle @ with the positive direction of x-axis, to meet
the line ax + by + ¢ = 0 at Q. The length of PQ is
IIT-JEE-MATHEMATICS

14.

15.

16.

17.

18.

19.

20.

21.

MATHEMATICS

¢ 2-D
GEOMETRY
(A) 4@ +bf+c¢ (B) |9a+bBtc
acos@ +bsin0 /a2+b2
(C) _eatbfzo (D) none of these
acosd +bsinf

If the equal sides 4B and AC (each equal to @) of a
right-angled isosceles triangle ABC be produced to P
and Q so that BP - CQ = AB?, then the line PQ always
passes through the fixed point

(A) (a,0)
(©) (a,a)

Ifx, x,, X, as wellasy,y,, ¥, are in G. P, with the same
common ratio, then the points (x,, ¥,), (x,, ¥,) and (x,, »,)

(B) (0. @)

(D) none of these

(A) lie on a straight line

(B) lie on an ellipse

(C) lie on a circle

(D) are vertices of a triangle

Number of equilateral triangles with y = NG (x-D+2

and y= —xas two of its sides, is
(A)0 B) 1
(C)2 (D) none of these

If the distance of any point P(x, y) from the origin is
defined as d(x, y) = Max.{|x], |¥|} and d(x, y) = k (non-
zero constant), then the locus of the point P is

(A) a straight line (B) acircle

(C) a parabola (D) none of these

If a, b, ¢ form an A. P. with common difference d (# 0)
and x, y, z form a G. P. with common ratio +(# 1), then
the area of the triangle with vertices («, x), (b, y) and
(¢, z) is independent of
(A) b
©)d

(B) r
(D) x

A line of fixed length 2 units moves so that its ends are
on the positive x-axis and that part of the line x + y =
0 which lies in the second quadrant. The locus of the
mid-point of the line has the equation

(A) x+ 2y +y*=1 (B) x=2yy+)y'=1
(C) (x+2p)-y*=1 (D) none of these

A straight line through the origin O meets the parallel
lines 4x + 2y =9 and 2x +y + 6 = 0 at points P and @,
respectively. The point O divides the segment PQ in
the ratio

(A)1:2 (B) 3:4

(Cy2:1 (D) 4:3

Let O be the origin and let A(2, 0), B(0, 2) be two
points. If P(x, y) is a point such that xy >0 andx + y <
2, then

A P STUDY
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22.

23.

24,

25.

26.

27.

(A) P lies either inside the triangle O4B or in the third
quadrant

(B) P cannot be inside the triangle OAB

(C) P lies inside the triangle O4B

(D) none of these

Consider the equation y — y, = m(x — x,). In this equa-
tion, if m and x, are fixed and different lines are drawn
for different values of ', then,

(A) the lines will pass through a single point
(B) there will be one possible line only

(C) there will be a set of parallel lines

(D) none of these

D 1s a point on AC of the triangle with vertices A(2,
3, B(1, -3), C(-4, —7) and BD divides ABC into two
triangles of equal area. The equation of the line drawn
through B at right angles to BD is

(A)y—2x+5=0 (B) 2Zy—-x+5=0
C)yy+2x-5=0 (D) 2y +x-5=0

If two points 4(a, 0) and B(—a, 0) are stationary and if
ZA— £ZB = 60in AABC, the locus of Cis

(A) x* + )2 + 2xy tan = a?

(B) x> —y* + 2xytan 8=a*

(C) X2 + %+ 2xy cot @=a?

(D) x2—y*+ 2xy cot B=a*

The straight line y = x — 2 rotates about a point where
it cuts the x-axis and becomes perpendicular to the
straight line ax + by + ¢ = 0. Then, its equation is
(A)ax+by+2a=0

(B) ax—by-2a=0

Cyby+tay—2b=0

D)yay-bx+2b6=0

If the point P(a?, a) lies in the region corresponding to
the acute angle between the lines 2y =x and 4y =x, then
(A)ae (2,0) (B) ae (4,6)

Crae (2,4 (D) none of these

The point (4, 1) undergoes the following three succes-
sive transformations

(A) Reflection about the line y=x— 1
(B) Translation through a distance 1 unit along the
positive x-axis

(C) Rotation through an angle % about the origin in

the anti-clockwise direction.
Then, the coordinates of the final point are

A) (4,3 [7 7j

(A) (4,3) ®B) | o5
©) (0,3v/2) D) (3,4)

IIT-JEE-MATHEMATICS

28.

29.

30.

31.

32.

33.

34.

MATHEMATICS

¢ 2-D

GEOMETRY

A light ray emerging from the point source placed at
P(2, 3) is reflected at point ‘& on the y-axis and then
passes through the point R(5, 10). Coordinates of ‘0’
are

(A) (0,3)
(© (0, 5)

The distance between two parallel lines is unity. A
point P lies between the lines at a distance a from one
of them. The length of a side of an equilateral trian-
gle POR, vertex Q of which lies on one of the parallel
lines and vertex R lies on the other line, is

(A) %-\/a2+a+1 (B) %\/az—a-lrl

© L\hszzz+a+1 D) L\J‘aZ—a:+1
NE) J3

Two points 4 and B are given. P is a moving point on
one side of the line AB such that ZP4B — ZPBA is a
positive constant 26. The locus of the point P is

(A) X2+ + 2xy cot 20=a*

(B) x* +3*—2xy cot 20 = a?

(C) ¥*+y*+2xytan 280=c

(D) x> —y* + 2xycot 20=a".

The four points A(p, 0), B(g, 0), C(r, 0) and D(s, 0) are
such that p, g are the roots of the equation ax? + 2hx +
b=0and r, s are those of equation a’x*> + 2h’x + " = 0.
If the sum of the ratios in which C and D divide 4B is
zero, then

(Ayab' +a’ b=2hl
(C) ab’ —a’b=2hl

(B) 0,2)

(D) none of these

(B) ab’ +a’b=hi
(D) none of these

The coordinates of a point £ on the line 3x + 2y + 10
= 0 such that | B4 — PB| is maximum where A is (4, 2)
and B is (2, 4), are
(A) (22, 28)

(C) (22, 28)

(B) (22,-28)
(D) (-22,-28)

A line through A(-5, —4) meets the lines x + 3y +2=0,
2x+y+4=0andx—y—5=0at the point B, C and D,

2 2
respectively. If i) + g = 5 , the equa-
AB AC AD

tion of the line is
(A)2x+3y+22=0 (B) 2x—3y+22=0
(C) 3x+2y+22=0 (D) 3x—2y+22=0

A(0,0), B(2, 1)and C(3, 0) are the vertices of a AABC
and BD is its altitude. If the line through D parallel
to the side 4B intersects the side BC at a point K,
then the product of the areas of the triangles ABC and
BDK is

A P STUDY
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3s.

36.

37.

38.

39.

(A1
1

© 1

A line cuts the x-axis at 4 (7, 0) and y-axis at B (0, —5).

A variable line P is drawn L to AB cutting the x-axis

in P and the y-axis in Q. If 4Q and BP intersect at R,

then the locus of R is

A x(x—TN+yy+5=0

B) xx=T7)=y(y+5)=0

(© x(x+T)+ p(y=5)=0
(D) none of these

1
B) -
2
(D) none of these

The point (2, 3) undergoes the following three trans-
formations successively
(i) reflection about the line y =x

(i1) translation through a distance 2 units along the
positive direction of y-axis

(iii) rotation through an angle of 45° about the origin
in the anti-clockwise direction.

The final coordinates of the point are

SIS I )

() ( Nk j_J (D) none of these

Lines L =ax+by+c=0and L=k +my+n=0
intersect at the point P and make an angle 8 with each
other. The equation of line L different from L, which
passes through P and makes the same angle 0 with L,
is

(A) 2 (al + bm) (ax + by + ¢) — (@* + bY) (Ix + my + 1)

=0

(B) 2 (al + bm) (ax + by + ¢) + (& + b¥) (Ix + my + 1)
=0

(C) 2 (@*+ b)) (ax + by + ¢) — (al + bm) (Ix + my + n)
=0

(D) none of these

The equations of the perpendicular bisector of the
sides AB and ACofaAABCarex—y+5=0andx +
2y = 0, respectively. If the point 4 is (1, —2) then the
equation of the line BC is
(A) 14x + 23y =40
(C) 23x + 14y =40

(B) 14x —23y =40
(D) 23x— 14y =40

The equation of a family of lines is given by (2 + 37)
x+ (1 —2f) v+ 4 =0, where ¢ is the parameter. The
equation of a straight line, belonging to this family, at
the maximum distance from the point (2, 3) is
(A)21x+ 14y =0 (B) 21x-14y=0

(C) 14x-21y=0 (D) none of these

IIT-JEE-MATHEMATICS

MATHEMATICS

€ 2-D

GEOMETRY

40. ABCD is a square whose vertices 4, B, C and D are

41.

42,

43.

44.

(0,0),(2,0),(2,2)and (0, 2), respectively. This square
is rotated in the X-Y plane with an angle of 30° in
anti-clockwise direction about an axis passing through
the vertex 4. The equation of the diagonal BD of this
rotated square is

(A) Bx+(1-3)y=43
B) (1+3)x—(1-2)=2
©) 2-Vx+y=2(:3-1)
(D) none of these

The equations of the straight lines passing through
(=2, -7) and cutting an intercept of length three units
between the straight lines 4x + 3y = 12 and 4x + 3y =
3 are

7
(A) x+2=0,y+7=—(x+2
y 24( )

7

B) x-2=0,y+7=—(x+2

B) x hY 24(% )

(©) x+2:0,y+7:—l(x+2)
24

7
D) x+2=0,y+7=—E(x+2)

The coordinates of the point which is at unit distance
from the lines L =3x -4y +1=0and L,=8x + 6y +
1 =0 and lies below L, and above L, are

( ){5 10) ® )2(_’_%j
© [5 SJ o [E *%j

The vertices of a triangle are A(x, x, tan @), B(x,, x,
tan f) and C(x,, x, tan ). If the c1rcumcentre of trian-
gle ABC coincides with the origin and H{(a, b) be its

a
orthocentre then E =

cOosSa +Ccos P +cos
(A) B Y

cosa -cos - cosy
sine +sin B +siny

B) ———
sina -sin B -siny

tane +tan § +tany

tang -tan B -tany

cosa +cos ff+cosy
sine +sin § +siny

(D)

OX and OY are two coordinate axes. On OY is taken a
fixed point £ and on QX any point Q. On PQ an equi-
lateral triangle is described, its vertex R being on the
side of PQ away from O, then the locus of R will be

A <
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45.

46.

47.

More than One Option Correct Type

49.

50.

(A) straight line
(C) ellipse

(B) circle
(D) parabola

If the vertices of a variable triangle are (3, 4), (5 cos
0, 5 sinf) and (5 sinf, —5 cosd), then the locus of its
orthocentre is

(A) (xty—1y+(x-y=T7) =100

B x+y-7+(x—-y+1)2=100

(©) x+y=Ty+(x-y-17=100

(D) x+y+ 7P+ x+y-1y =100

If a right-angled isosceles triangle right-angled at ori-

gin has 3x + 4y = 6 as its base, then the area of the
triangle is

11
(A7 B) -

36 12
(%52 D) =

The line x +y =1 meets x-axis at 4 and y-axisat B. Pis
the mid-point of 4B . P, is the foot of the perpendicular
from P to OA4; M, is that from P, to OP; P, is that from

48.

MATHEMATICS

€ 2-D

GEOMETRY

M, to O4 and so on. If P, denotes the foot of the #th

perpendicular on O4 from M _, then OP is equal to
1 1

A) — B

( ) 211 ( ) 2n—l

© L > (D) none of these
2"

The line x + y = a meets x-axis at 4. A triangle AMN is
inscribed in the triangle O4B, O being the origin with
right angle at N; M and N lie respectively on OB and

AB. If area of AAMN is % of the area of triangle OAB,

then AN is equal to
BN
(A)3 (B)

(€2 (D)

Wik W=

Let S, S,, ... be squares such that for each n > 1, the
length of a side of § equals the length of a diagonal
of S . If the length of a side of S, is 10 cm, then for
which of the following values of n is the area of S less
than 1 square cm?

(A7 (B) 8

(© 9 (D) 10

A line which makes an acute angle 0 with the positive
direction of x-axis is drawn through the point P(3, 4)
to meet the line x =6 at R and y = § at §, then

(A) PR=3secH

(B) PS=4cosec 6

(C) PR+PS= 2(3sm.9 +4cosB)
sin20

(D) (PR  (PS)

51. Straight lines 3x + 4y = 5 and 4x — 3y = 15 intersect at
A. Points B and C are choosen on these lines such that
AB = AC. The equation of the line BC passing through
the point (1, 2) is
(A)yx+7y+13=0 (B) x-Ty+13=0
(C) Ix+y-9=0 (D) none of these

52. The equation of the straight line passing through the
point (4, 5) and making equal angles with the two
straight lines given by the equations 3x —4y — 7 =0
and 12x-5y+6=0,is

IHT-JEE-MATHEMATICS

53.

54.

55.

56.

(A)9x-Ty—-1=0
B)9Gx+T7y—-1=0
(C)7x+9y-73=0
(D) 7x+9y+73=0

Let the algebraic sum of the perpendicular distances
from the points A(2, 0), B(0, 2), C(1, 1) to a variable
line be zero. Then, all such lines

(A) are concurrent

(B) pass through the fixed point (1, 1)

(C) touch some fixed circle

(D) pass through the centroid of AABC

The equation of the line passing through the point (2,
3) and making intercept of length 2 units between the
linesy+2x=3andy+2x=5,is

(A)x=2 (B) 3x+4y=18

(C) 4x +3y=18 (D) none of these

Two sides of a rhombus ABCD are parallel to the lines
y=x+2and y = Tx + 3. If the diagonals of the rhom-
bus intersect at the point (1, 2) and the vertex 4 is on
the y-axis, then the possible coordinates of 4 are

5
oot

(D) none of these

(A) (0,0)

5
©) (0, —E]

The equations of two equal sides 4B and AC of an
isosceles triangle ABC are x + y =5 and 7x — y = 3,

A c©

P STUDY CIRCLE
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respectively. The equation of the side BC, if the area of
AABC is 5 units, is
(A)3x+y-2=0
(C)x-3y+1=0

57. If the equation of the mirror be 2x + y —6 =0 and a
ray passing through (3, 10) after being reflected by the
mirror passes through (7, 2), then the equations of the
incident ray and the reflected ray are
(A)x+3y—13=0 (B) 3x—y+1=0
(C)x-3y+13=0 (D) 3x+y-1=0

(B) 3x+y-12=0
D)y x-3y+21=0

Passage Based Questions

MATHEMATICS

¢ 2-D

GEOMETRY

58. Line x + 2y = 4 is translated by 3 units closer to the
origin and then rotated by 30° in the clockwise sence
about the point where the shifted line cuts the x-axis. If
the equation of the line in the new position is y = m(x
+ ¢), then

2+3 2443
B =
2431 (R 1-243

(©) ¢=3J5-4 D) ¢c=4-35

(A) m=

Passage 1

In oblique coordinates, the equation y = mx + ¢ represents a
straight line which is inclined at an angle

0 ( msinw j
tan” | ——
1+ mcosw
to the x-axis, where w is the angle between the axes.

If @be the angle between two lines y=mx + ¢ and y =mx
+¢,, w be the angle between the axes, then

m, —m,)sinw
tand = G —my)

1+ (m, +m,)cosw + m,mn,

The two given lines are parallel if m = m,.
The two lines are perpendicular if 1 + (m, + m,) cos w +
mm,=0.

59. If the straight lines y = m x + ¢, and y = mx + ¢, make
equal angles with the axis of x and be not parallel to
one another, then m +m, + km m, cos w=0 where k=
(A1 (B) 2
(©) -1 D) -2

60. The axes being inclined at an angle of 30°, the slope of
the line which passes through the point (-2, 3) and is
perpendicular to the straight line y +3x =6 is

Match the Column Type

3\/§+2
N ® 5,

(D) none of these

11 1
61. If v= xtan—" and y= xtamﬂ represent two
24 24

straight lines at right angles, then the angle between

the axes is

T T
(A) = (B) 7
(o)l D)=
© 3 (D) 5

62. The axes being inclined at an angle of 120°, the tan-
gent of the angle between the two straight lines 8x + 7y
=1 and 28x — 73y = 101 is tan"'6, where 0=

(a) 303 30( ®) 1393
37
(O ﬂ (D) none of these
37

63.
Column-1 Column-11
I. The diagonals of the parallelogram 5
whose sides are Ix + my+n=0, Ix+ T

my+n=0,mx+ly+n=0,mx+1ly+
n’ = 0 include an angle

IHT-JEE-MATHEMATICS

II. The line x +y = 2 turns about the point
on it, whose ordinate is equal to abscissa, (B)
through an angle @ in the clockwise
direction so that its equation becomes y
=2x— 1. Then, the value of the angle &is

T

12
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GEOMETRY

II. The larger of the two angles made p II. If a line through the variable point (B) G.P.
with the x-axis of a straight line drawn (® 5 A(k + 1, 2k) meets the lines 7x + y —
through (1, 2) so that it intersects x + y 16=0,5x—py—-8=0, x-5y+8=0
=4 at a point distant ﬁ from (1,2) is at B, Cand D, r.espectively, then AC,
(D) tan~'3 AB and AD are in
II. The length of the perpendiculars (C) A.G.P.
64. from the points (n?, 2m), (imn, m + n)
and (n?, 2n) to the line x cos@+ y sin@
sin® 0
Column-I Column-II =p, where p=— 030’ forma
RS AR B e e, BT IV, If the lines ax + 12y + 1 =0, by + (D) AP,
th(z’x Y) Breduchl thatdB =.AG; 13y +1=0and cx+ 14y + 1 = 0 are
CIL%::¥, 221510 concurrent, then a, b, ¢ are in
Previous Year's Questions
65. A triangle with vertices (4, 0), (-1,-1), (3, 5)1s: [2002]  70. If the equation of the locus of a point equidistant from
(A) isosceles and right angled the points (a, b)) and (a,, 2) is (@, —a)x + (b — b))y
(B) isosceles but not right angled +¢ =0, then the value of “c’ is [2003]
(C) right angled but not isosceles
(D) neither right angled nor isosceles (A) (“z +by—al - b)
66. The quati(.)r.l of the directrix of the parabola y?+ 4y + (B) a’+ a2— b - b?
4x+2=0is: [2002]
1
A)x=-1 (B x=1 © E(af-{- @ — bl - b})
3 3
©x=-7 (D) x=3 O Jarb-a-t
67. The incentre of the triangle with vertices (, V3), (0, 71, Locus of centroid of the triangle whose vertices are (a
0) and (2, 0) is: [2002] cos t, a sin £), (b sin t, —b cos ) and (1, 0), where ¢ is a
ter, is [2003]
A \/5 B parame
{ )(LTJ &) [3 IJ (8) Gr— 17+ GyP=a—I?
1 (B) Gx— 17+ Byy'=a’+ 5’
© (2 B ) ™) (L—j (© Gx+ 1+ (o=t B2
5 3 (D) Gx + 1)+ ByP=a— b?
68. Three straight lines 2x + 11y —5=0, 24x + 7y =20 = 72 Tt 4(2,-3) and B(-2, 1) be vertices of a triangle ABC.
Oand 4x—3y—-2=0: [2002] If the centroid of this triangle moves on the line 2x +
(A) form a triangle 3y =1, then the locus of the vertex C is the line[2004]
(B) are only concurrent (A) 2x +3y=9 (B) 2x—3y=7
(C) are concurrent with one line bisecting the angle (C) 3x+2y=5 (D) 3x—2y=3
between the other two . . . 2
73. The equation of the straight line passing through the
(D) none of the above 3 v .
point (4, 3) and making intercepts on the co-ordinate
69. A straight line through the point (2, 2) intersects the axes whose sum is —1 is [2004]
lines +/3x + y=0and \/gx—y =0 at the points 4 and Xy
B. The equation to the line AB so that the triangle OAB (A) = + =~ =-land — =-1
. i . 3 - 1
is equilateral, is: [2002]
(A)x—2=0 (B) y—2=0 ® F_X o qand X421
(C)yx+y—4=0 (D) none of these 2 3 -2 1
IT-JEE-MATHEMATICS
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3

©) Z+Z=1andZ+2 =1 INETRLL B) xy==
2 3 7] ( ) xy= o4 (B) xy 4

35 64
D i_lzl di+l=l C == D = —
()23 and =+ ()xy16 D) xy o

74. If the sum of the slopes of the lines given by x*—  81. If(a, ¢?) falls inside the angle made by the lines y = =
2¢cxy —7y*= 0 is four times their product, then ¢ has the 2’

value [2004] x>0 and y =3x, x > 0, then a belongs to [2006]
(A) 1 (B) -1 ) [o, l} B) (=)
()2 (D) 2 2
75. If one of the lines given by 6x*— xp + 4¢?*=01is 3x + (C) [l, 3] (D) [_3’ _l)
4y = (), then ¢ equals [2004] 2 2
A1 (B) -1 82. Let A(h, k), B(1, 1) and C(2, 1) be the vertices of a
)3 (D) -3 right angled triangle with AC as its hypotenuse. If the
76. Let P be the point (1, 0) and @ a point on the locus 32 area of the triangle is 1, then the set of values which ‘&’
= 8x. The locus of mid-point of PO is [2005] camiinke™ etven by [2007]
(A) = dx+2=0 (B) Y2+ dx+2=0 e SR,
(C)x2+4y+2=0 (D)x2—4y+2=0 ( ){_9 } ( ) {_,—}
x 77. The line parallel to the x-axis and passing through the ~ 83 Le't P=(-1,0), Q =(0,0) ar‘1d R= (353‘/5) be three
5 intersection of the lines ax + 2by + 36 =0 and bx — 2ay points. The equation of the bisector of the angle POR
% —3a =0, where (a, b) # (0, 0) is [2005] . [2007]
i A = B) x+—y=0
o (A) below the x-axis at a distance of £ from it (A) J?Tx—%y 0 (B) 2 d
2 3
© ?x+y=0 (D) x+3y=0

(B) below the x-axis at a distance of % from it

84. If one of the lines of my?+ (1 — mPxy — mx*=0is a

+
0
)
0
w
o . . 3 .
3 (C) above the x-axis at a distance of 5 from it bisector of the angle between the lines x =0 and y =0, 5
= ; then 2 is [2007) =
= (D) above the x-axis at a distance of = from it l _ O
N : (A) - B) -2 0
~ i
o 78. If a vertex of a triangle is (1, 1) and the mid-points of 1 D) 2 4
| igo 51dtes t_tcllro;l‘célll tin.s ve11’te?i are (-1, 2) and (3, 2;{1;156511 85. The perpendicular bisector of the line segment joining =
A S EERUDIC OLINE Hange 1D [ | P(1, 4) and Q(k, 3) has y-intercept —4. Then a possible 8
0 : o
7 -1 value of k 1s [2008] =
> @ (-1.]) ® (3.]) :
o 3 373 (A)1 (B) 2 o)
3 (C) -2 (D) —4 =
[ 7 =
© (l’ﬂ 2 (3 3) x <
86. The line L given by 3 + % =1 passes through the point !

79. A Stralght line through the pO]ntA(3, 4) is such that its (13, 32) and the line X which is parallel to L has the
intercept between the axes is bisected at 4. Its equation Xy
is [2006] equation —+ 8 1. Then, the distance between L and
(A)x+y=7 (B) 3x—4y+7=0 Kis ¢ [2010]
(C)4x+3y=24 (D) 3x +4y =125 17
(&) 17 ® 75
80. The locus of the vertices of the family of parabolas
a x azx . (C) 2 (D) ﬁ
y= 3 +7—2a is [2006] NTl N
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87.

88.

89.

90.

91.

The lines L;: y —x=0and L,: 2x + y = 0 intersect the
line L;: y +2 =0 at two respective points P and Q. The
bisector of the acute angle between L, and L, intersect
L,atR. [2011]

Statement - 1 : The ratio PR : RQ equals 2J2:45.

Statement - 2 : In any triangle, bisector of an angle

divides the triangle into two similar triangles.

(A) Statement - 1 is true, Statement-2 is true; Statement
- 2 is not a correct explanation for Statement -1

(B) Statement - 1 is true, Statement- 2 is false.

(C) Statement - 1 is false, Statement- 2 is true.

(D) Statement- 1 is true, Statement - 2 is true; Statement
- 2 is a correct explanation for Statement -1

Equation of the ellipse which passes through the point
(- 3, 1), whose axes are the coordinate axes and has

eccentricity %is [2011]

(A) 5x2+ 32— 48 =0
(C) 5x2+3)2—32=0

If the line 2x + y = k passes through the point which
divides the line segment joining the points (1, 1) and

(B) 32+ 52— 15=0
(D) 32+ 52—32=0

(2, 4) in the ratio 3 : 2, then k equals [2012]
29
(A) — (B) 5
5
11
(€) 6 @) %

A line is drawn through the point (1, 2) to meet the
coordinate axes at points P and Q respectively such
that it forms a triangle OPQ, where O is the origin. If
the area of the triangle OPQ is least, then the slope of

the line PQ is [2012]
@ - (B) 4
(C) -2 @) _1

2

A ray of light along x + \/5 =3 gets reflected upon
reaching x-axis, the equation of the reflected ray is
[2013]

92.

93.

94.

95.

96.

97.

MATHEMATICS

€ 2-p
GEOMETRY
(A) BBy =x-3 (B) y=3x-3

© 3y =x-1 (D) y=x+3

The abscissa of the incentre of the triangle that has the
coordinates of mid points of its sides as (0, 1) (1, 1)

and (1, 0) is [2013]
(B) 142

(A) 2-42
€) 1-2 (D) 2++2

Let a, b, ¢ and d be non-zero numbers. If the point of
intersection of the line 4ax + 2ay + ¢ = 0 with the line
Sbx + 2by + d = 0 lies in the fourth quadrant and is
equidistant from the two axes then [2014]
(A) 2bc—3ad =0 (B) 2bc+3ad=0

(C) 3bc —2ad=0 (D) 3bc+2ad=0

Let PS be the median of the triangle with vertices P
(2, 2), O(6, 1) and R(7, 3). The equation of the line
passing through (1, —1) and parallel to PSis  [2014]
(A)4x-Ty—-11=0 (B) 2x+9y+7=0
(C)dx+Ty+3=0 (D) 2x-9y-11=0
The number of points, having both co-ordinates as
integers, which lie in the interior of the triangle with

vertices (0, 0), (0,41) and (41, 0), is: [2015]
(A) 861 (B) 820
(C) 780 (D) 901
Locus of the image of the point (2, 3) in the line (2x —

3y+4)+k(x-2y+3)=0,ke R,isa:
(A) straight line parallel to y-axis.

(B) circle of radius 2.

(C) circle of radius 3.

(D) straight line parallel to x-axis.

[2015]

Two sides of a rhombus are along the lines, x —y + 1
=0and 7x —y -5 =0. If its diagonals intersect at (-1,
—2), then which one of the following is a vertex of this
rhombus? [2016]

7
Ay [~ =it
@ (-5-3)

© -3,-8)

(B) (-3,-9)

1 8
o (1}

ANSWER KEYS

Single Option Correct Type

.B 2B 3.(C) 4. (B) 5 (B)

1. (B) 12. (A) 13.(A) 14. (C) 15. (A)

21. (A) 22.(B) 23.(A) 24.(D) 25.(D)

31. (A) 32.(C) 33.(A) 34.(B) 35. (A)

41. (C) 42.(B) 43.(D) 44.(A) 45. (B)
IIT-JEE-MATHEMATICS

6. (C) 7.(B) 8(C) 9. (A) 10. (B)
16. (D) 17. (A) 18. (A) 19. (A)  20. (B)
26. (C) 27.(C) 28.(C) 29.(B) 30. (D)
36. (B) 37.(A) 38.(A) 39.(D) 40. (C)
46. (C) 47. (A)  48. (A)
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More than One Option Correct Type

49. (B,C, D) 50. (A, B,C,D) 51. (B,C) 52. (A,C) 53. (A,B,D)
54. (A, B) 55. (A, B) 56. (A, B, C,D) 57. (A,B) 58. (B,C)

Passage Based Questions

59. (B) 60. (A)  61. (B)  62. (A)

Match the Column Type
63. 1< (C), Il <> (D), lll > (A, B), 64. 1 <> (D), 1 <> (A), lll ¢ (B), 1V <> (D)

Previous Year's Questions

65. (A) 66. (D) 67. (D) 68 (C) 69.(B) 70.(A) T..(B) 72 (A) 73 (D) 74 (O
75. (D) 76. (A) 77.(A) 78.(C) 79.(C) 80.(A) 81.(C) 82. (C) 83 (A) 84.(C)
85. (D) 86.(C) 87.(B) 88 (D) 8. (C) 90.(C) 91.(A) 92.(A) 93.(C) 94. (B)
95. (C) 96. (B) 97. (D)

dNITd13H

HINTS AND SOLUTIONS

*
0
)
.o - -
= Single Option Correct Type
wn N
g: 1. The point (3, 0) does not lie on the diagonal x = 2y. Let the This line cuts x-axis and y-axis at 4 (@, 0) and B (0, b) %
o equation of a side through the vertex (3, 0) be respectively. -
O =
=~ y=0=m(x-3) Since area of AOAB =S (Given) 8
~ Since the angle between a side and a diagonal of a square is b=
-+ T 1 p
— —_ = = i 2 wn
: 4,wehave 2ab Sorab=2S(-ab>0) (2) >
~ _ _ ~
N T i L Since the line (1) passes through the point P (e, f) o)
o 4 1+m(1/2) 24+m g
> = m=3,-1/3 . . v 2B 1% By (Using @) ~
o Thus, the equation of a side through (3, 0) is y = 3(x — 3) or a b a 2§ 0]
=
8 y= (%J(x —3) and the one nearer to the origin is or, @*fi—2aS+20a5=0. x
m
i i 1, . 48— = >
Sy +x_3=0 Since g is real, S2—-8afiS=0 ‘_|
2. The equation of the given line is or, 48>> 8aBS 0rS>2a,3{'.' S:lab>0 as ab}OJ %
x y 2 Z
22 (D) >
a b YA Hence, the least value of S=2af. o
3. Slope of line 5
B
AB = u—l—tan45° ﬁ
2-3 -
P, o
& ZBAX = 45°, g
5 Given, ZCAB = 15°. 2
o A 5( e
LCAX = 60°. 2
©
N
0
N
=
T
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YA Y4
C D
B3, 1) 3
iso 0(0,72)
45° N
ol 4,0 §% Cc ~
0 E™ X
<. Slope of line AC =tan60° =/3. 2
Now, line AC makes an angle of 60° with positive direction
of x-axis and
AC=AB=(3-27 +(1-0)’ =2
. Coordinates of Care (2 ++/2cos 60°,0 + V2 sin 60°) 7. The point (1, B) lies on the line x= 1, for all real 8. Clearly,
1 3 from the figure, it will lie on or inside the triangle formed by
2+ ( the given lines if 0 < < 1.
5
4. Equation of two lines are ya
=3x+2, ifx=0
and, y==V3x+2, ifx<0

Clearly, y = 2.

v

@] y=0 X-axis X

dNITd13H

8. The refracted ray passes through the point (5, 0) and makes

*
0 an angle 120° with positive direction of x-axis
o Y 4
0 g )
o 0 g
n .. . )
@ Also, y-axis is the bisector of the angle between the two b
2 lines. P, P, are two points on these lines, at a distance 5 4(5,0) % o
= units from 4. Q is the foot of the L from P and P, on the 0 N\ g
~ bisector (y-axis). 307~ o
:" Then, the coordinates of Q are (0, 2 + 5 cos 30°) e
S 543 1 >
: 0,2+ {(}!_(4 + 5\/5)} .. The equation of the refracted ray is =
N 2 2 (v —0) = tan 120° (x— 5) O
0 5. Side of square = 3 unit = p=-V3(x-5 or Bx+y-35/3=0 o
[ = ar (PORS) = (3)* =9 square unit 9. LetP=(e, 0). 0
§ One side of APQT is the side PQ of the square i.e., 3 units Let the reflected ray makes an angle @ with positive direction g
(¥ The other is one more than its side, i.e., (3 + 1) = 4 units of x-axis, then the incident ray makes angle (7— 6) with pos- E
| : U s
~ ar (APOT) = L(3)(4) = 6 square unit itive direction of x a.XIS . >
2 The slope of the incident ray is =
3
ar (PORS) = {ar(APQT)} Eh =
>
6. Clearly, point (0, ) lies on y-axis. O
Drawing the graph of the three straight lines, we see that (6,4) %
Q:(O,ZJ and P:[O,SJ. 3 2
2 3 3
Therefore, the point (0, B) lies on or inside A4BC, when 9 0 N ?
5 7 o P X <
Z<ps=- @
3 2 (o, 0) >
Facd
I
©
N
0
N
=
T
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10.

11.

=E=tan(75—6), i.e.,tant9=i (N
a—2 a—2

The slope of the reflected ray is

= ﬂ =tand,i.e., tanf = i (2
6—a 6—a

From (1) and (2), we get

i=i = 18-3a=4a-8

a-2 6-«a

= 7a:26or(x:2—76

.. The coordiantes of P are(276 {)J

Let the coordinates of 4 and B be (o, 0) and (0, b),
respectively.

Then, equation of line AB is

122
a b
Y M
(0, b)B
> X
9 A(a, 0)
Since, it passes through the point P (4, 2)
4 2
—+==1. 1
3 M

Now, centre of the circumcircle of AOAB = [

0| R
S
\'_J

So, equation (1) can be written in the form
2 1

—_—t=

al2 b/2

.. locus of circumcentre is

g+l=1 or 2x'+y'=1
xy
Clearly, the point (2 cos6, 2 sinf) lie on the circle
YA
(0, 2)
P (2 cos 8, "
2sin 6),/ 5
.Y
0 S
o 2,0 ¥
N
X
A
Q
0,-2) <

IIT-JEE-MATHEMATICS

12.

13.

14.

15.

MATHEMATICS

¢ 2-D
GEOMETRY
Xty =4
The two lines represented by the equation y = |x — 2| are y =

x—2andy=2—x.

From the figure, 8 can be vary from 7% to g

The lines y =x and NG y+x =0 areinclined at 45° and 150°,
respectively, with the positive direction of x-axis. So, the
angle between the two lines is an obtuse angle. Therefore,
orthocentre lies outside the given triangle, whereas incentre
and centroid lie within the triangle (In any triangle, the cen-
troid and the incentre lie within the triangle).
Equation of a straight line passing through the point P (¢, f)
and making an angle 8 with positive direction of x-axis is
o y-p
cosf  sinf
Coordinates of any point on this line are
(x+7rcosB, B+ rsinb)
If it lies on the line ax + by + ¢ =0, then
a(e+rcos@)+b(B+rsinf)+c=0

=r (say)

ao+bf+c
= r=————
acos@ + bsinf
Thus, PO =r=— ac +bfB +c¢

acosO + bsin@

We take A as the origin and 4B and AC as x-axis and y-axis,
respectively.

LetAP=h, AQ = k.

V&
(0, %)
0,aC
4 B P y
(2,0)  (4,0)
Equation of the line PO is
a4
AP A 1
2 (n
Given, BP -CQ =AB*
= (h-a)(k-a)=d’
= hk—ak—ah+a*=a*
or, ak+ ha=hk
a a
o, —+—-=1 )
h k

From (2), it follows that line (1), i.e., PQ passes through the
fixed point (a, a).
Let 2=% o) and 22252,
xl x2 J;l yl
= x,=xrx,=xry,=yrandy =yr.

A <

P STUDY CIRCLE
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‘We have, Y
4
x oy 1 4 o Iy ox 1
A=lx, y, l=(xr yr L=|0 0 1-r B
BV | I P O | IV (B : )
1
. I
[Applying R, > R, —rR,and R, - R, - R ] i 2
=0 (R,and R, are identical) ! wﬁ\
. - . 1
Thus, (x,, ¥,), (x,, ,), (x,, ¥,) lic on a straight line. g| 45° > o T ¥
16. The sides are,
)
Ny
y=3x-D+2 and y=—3x T

A=2cosa—2sin a, 0)

and, B = (-2 sin ¢, 2 sing).

If P(x, y) is the mid point of AB, then
2x=2cos —4 sin wand 2y =2 sin &
= x=cos &—2sin o¢andy=sin &
= cosa=x+2yandsin ¢=y

Squaring and adding, we get (x + 2y)> + y* = 1, which is the

T required locus.

= 20. It is clear that the lines lie on opposite sides of the

% origin O. Let the equation of any line through O be

o X =Y 1fopr-= r, and OQ = r, then the coordi-
The two lines are at an angle of 60° to each other. Now, any cos® smB
line parallel to obtuse angle bisector will make equilateral nates of P are (v, cosé, r, sinf) and that of Q are (-, cos®,
triangle with these lines as its two sides. - r,sing).

Since P lies on 4x + 2y = 9, 2r (2 cos@ + sinf) = 9 and

17. We have, d(x,y) = Max. {|x|, [} =k
Olieson2x + y + 6 =0, — r,(2 cosf + sinf) = -6 so that

If |x| > |v], then & = x| => x = =k

+
0
)
0
w
0
wn
©
¢ 522 2 o the roquied ratio is thus 3 : 4
g If|y| > |x|, thenk=|y| = y=+k ”2_12_4 and the required ratio is thus 3 : 4.
= Hence, the locus represents a straight line. 21. Since, xy > 0, therefore P lies either in the first quadrant or
- 18. Area of the triangle in the third quadrant. The inequality x + y < 2 represents all
0 the points below the line x + y = 2. Therefore, xy > 0 and x
& | e x o +y < 2 imply that P lies either inside AOAB or in the third
N =Eb y 1=5b~a y-x 0 quadrant.
0 z 1 c=b z-y 0
o
7 . Y
8 [Applying R, > R,—R and R, > R, - R,] /
a I
=5 [(b-a)z=y)~(c=b)r -] ‘\
B(0,2)
1 xy>0
= — —_ bl —a=c—b= V
2d(z 2y+x) [“b—a=c—-b=d] Ttp<2
Xy < Ofxy=0

x+ty<2 A(Z, 0)

1

=—d(xr’ —2xr+x - y=xrandz=xr" >

2( bk : /O \ ’
xy>04 250

= édx(r —1)*, which is independent of .

x+y<2
19. Let ZBAO = c 22. Since,y -y, = m(x —x,), where m and x, are fixed.
Then, BC = 2 sin o= CO and CA = 2 cosc. Therefore, the Therefore, the system represents a set of parallel lines of

coordinates of 4 and B are slope m.

HIFZZ L1628 - HIVOWYYE AMOHD YNVHL X3ITdWOD 1dNOALYS Y0014 ANZ
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Since all these parallel lines have fixed x coordinate = h*— 2+ 2hkcot =a?
(abscissa) . locus is x? — y2 + 2xy cot 0= a?
there will only be one possible line.
23, Since the line BD divides the triangle into two parts of d
equal area, BD is a median and D is (-1, —-2). Slope of line ax + by + ¢ = 0 and it cuts the x-axis at (2, 0). Hence,

b
BD = _1 the required line passes through (2, 0) and its slope is o
2

25. Slope of the line in the new position is 2 , since it is L to the

Therefore, its equation is

A
42;3) ax+hy+c=0

D / X
}B(l _3)

/
£ ‘;X
of 7420
a-4,-7)
y-0= é()c -2)
: s g _ _ a
r:F-; So, the ;qugeii(l)me isy+3=2(x-1) = ay=hx—2b
o == = . 5 = ay-bx+2b=0
— - 2 2
r% 24. Slope ofline AC=m,. = —a =tanc 26. We have, a—%>()anda—a—<()
v Slope of line BC =m,,. = ;Oztanﬁ '
= +a
- y=x/2
g Since, LA=1—«¢ {from figure}
2
° tan A = tan (1 — @) =—tan @ = k (1 Pla% a)
wn h—a i )
(=) y=Xx 7L
2 Y s
w A :
N -x 3
X Clh, By 0 o
+ ,’A‘ p
0 = 0<a<d,ae (—e,0)U (2, ) 4
> - —
N o \ = ae (2,4 S
w —0 > - X 27. If (@, ) be the image of (4, 1) wit. y = x — 1 then =
9 B(-a, 0) A(a, 0) (o, B) = (2, 3), say point Q. E
[
5 Similarly, ZB = 8 { g
o tan B = tan ff= 2) R th R 2
h+a (2,3)Q < (3, 3) A
Also,A-B=0 {given} . -
tan (4 — B)=tan @ ;
i tan A —tan B —iawa 450 )Z>
1+tan Atan B o ~ P4, 1) @)
45 .Y e
-k k 0 1,0 Q
_ (1,0) =
Ah—a) \hta) _ tan @ {using (1) and (2)} After translation through a distance 1 unit along the positive el
1+( k )( k J x-axis of the point d
h—a\h+a The coordinates of the final point are (0,3/2) . <
0 - —k(h+a)—k(h—-a)  2hk 28. If P, be the reflection of P in y-axis then P, = (-2, 3) Q
= tanb = (hz _ 2 22y g2 g2 2 y . . ~
a’)+(=k%) h =k —a Equation of line P R is I
o
)
)
N
=
T
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P(x, y)

10-3
=== 0G+2)

|
i
' |
\ i
SR(5, 10 |y
on| K10 |
] N B AP 5 h @ >
KN N x C A(a, 0)
P2, 3) (—a, 0) b'e
- X
(0] Let ZP4B = and ZPBA =p.
. _rc_ vy
= y=x+5. It meets y-axis at (0, 5) = Q0 =(0, 5) “ InAPCA,tan g= CA a-x
29. Let PO=OQR=RP=r 5z
: Y
Z POX =6, th and in APBC, tan f= — =
ang, Q 7; = p BC a+x
EROSRS o L0 Given, ZP4B — ZPBA = 20 (constant)
Given, PL=a,RN=1. = o-f=20= tan (- P)=tan 20
Now, a=PL=rsin 8 _
—, fano tan 8 - tan20
= VA 1 +tanc tan B
K R e I
Z = d-X da*X _a09
m
i N
+ a—Xx a+x
= 2
2 . ’ = S =tn2
o 0% 7 a—-x"+y
w >
= Q X L x = X2y + 2y cot20= 5
Si’ which is the required locus. 7
o
@ 31. Since p, g are the roots of the equation
w . T P 4q q -
o and,l—RN—rsm(§+9) axl+2hx+b=0 (0]
= (0]
R T T . _ 2h d _b | o
% = 1:r[sin§cosé‘+cos;sinﬂj o p+q——:an pq—; (M ;
E i : Also, #, s are the roots of the equation ;5'
w = r| —cosf+—sind |=1 aXP+20 x+ b =0 Q
0 2 2 2 b =
8» rt+s=——-andrs=— (2) 0
o \/5 2 a’ a [0}
(7 a 1a g a n : :
o = r|—[l-—5+=-—|=1| sind=— Let C divides 4B in the ratio ¢: 1. =
Pre 2 o2 r N o
Then,r:% = g=P~" A
+ — -
= ﬁ gt =1-2 ¢ T —
Let D divides AB in the ratio §: 1. ;
2 2 _ =z
or rz—azz(z_a) =4+a —4a Then,s:Lq_'-p = ﬁ:L ad >
3 3 B+l s—q o)
2 - 2 _ Given,ov+ =0 (@)
= rz:ywz:w ¢ B N 2
o P P (g (rts)—2pg—2rs=0 =
2 S r—q s—q —
v-ALEEA 20\ 20 26 2% z
[——J(——,J—————O (Using (1) and (2)) (@)
30. Let P (x, y) be the moving point whose locus is required. Let a a a a >
A=(a,0)and B (- a, 0). = ab’ +d’b=2hk. T
(o)
)
0
%)
)
T
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32. LetP=(x,y)and ZAPB=6 (cos@+ 3 sinf)* + (2 cos@ + sinf)?
P(x,y) = (cos@— sin6y’
2 = 4 cos’0+9sin*6+ 12 sinfcosf=0

= (2cosf+3sinf?=0= 2 cosf=-3sinf

= tan9=—2-
3

A 2) B(2%4) From (1), the equation of line is
2 9 2 2
Then, cosf = LB §CEB) ~(AB) y+4= ‘g(x +5)
2pA- PR 20+3y+22=0
Since cos < 1 o« Y e
(PA)’ +(PB)’ —(AB)’ < 34. Arclaa ofAABCl'= Area o;'AABD + Area of ABDC
2PA-PB a =5(2)(1)+§(l) (1)=5-
= (PAY+(PB—(AB)’<2PA-PB !
= (PA-PB)* < (4B)’ -+ slope of AB =slope of DK = >
= |PA—PB|<|AB|= J(4-2) +(2-4) |
—ay |PA—PB|52\/§. .'.equationofDKisy—0=5(x—2)or2y=x—2 (1)
= Maximum value of | PA — PB | is 22 when 8=0 Equation of BCisy—0=-1(x—3)ory=—x+3 ()
T i.e., P lies on the line 4B as well as on the given line. y
= equation of 4B is B(2.1)
% y—2=ﬁ(x-4)orx+y=6 (1) K
= 2-4 R
i and given lineis 3x+2y+10=0 ) 0,004 D C 4
:3 Solving (1) and (2), we get P = (-22, 28). (2,0) (3,0)
o 33. Suppose, the required line has slope tan@. Its equation is
g X+5 y+4 Solving (1) and (2), we get coordinates of k as ( —)
o i W o A ) 2011
0 cosf sinf 1
= Any point on this line has coordinates - Areaof ABDK = = [12 0 1|
> (-5+rcos 6,4 +rsin 6) 8 1
S Its distance from (-5, —4) is r. 3 3
R Coordinates of points B, C and D
= oordinates of points an. are =120_l r 2_§ - 2_0 _1
+ B=(-5+AB cos6, -4 + AB sinb) 2 3 3 3 3
= = (=5 + AC c0s6, —4 + AC sin6) " . 3 1 1
N D= (=5 + AD cos6, —4 + AD sin6) Hence, area of AABC x area o ABDK_E -t
° Points B, C, D lie on the lines 35. Equation of the line 4B is
& x+3y+2=0 @ Eo P o
o 2 +y+4=0 3) 7 -5
a x_y_5=0 (4) = 5x—7y—35=0.
The equation of the variable line PQ perpendicular to 4B is

respectively.

—5+ABcos@+3(—4+ABsinf)+2=0 Tx+5Sy+k=0.

. k k
15 _ c0s0 +3 sind = Coordinates of P are (—7,0) and that of Q are (0,—§).
and, 2(-5 + AC cos6) + (-4 + ACsin6) +4 =0 Now, equation of the line AQ is = + - =1 (1)
10 . 7 _k
——=2cos60 +sinf 5
and, (-5 + 4D cosb) — (-4 + ADsinf) -5=0 and, equation of the line BP is ik =1 2)

= i=cos€—sin9 7
AD

3 Now, locus of R, the point of intersection of AQ and BP can
Since ( 15 ) +( 10 ) (i) , we get be obtained from (1) and (2) by eliminating k& from their
AB AC AD equations. Equation (1) can be rewritten as

N
Z
Q
-
(0]
(0]
=
w
>
—
~
Q
(=
=
0
(0]
=
-l
m
=
—
ol
>
74
>
0
3
O
=
‘_7?
b
>
=
@
>
~
ok
c
N
0
N
>
T
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Y oy x_T-x -i(Li]-i
k77 NACREY NG
5 7
Hence, the coordinates of S are (—¥ )
- kT k:-s[ 7y) ) V22
5 T-x T—x 37. The equation of the line L passing through the intersection of
and, equation (2) can be rewritten as 214 Skt LyandL,is
Kk 5 (ax+by+tc)+t A(lx+my+n)=0 (D
7 By the given condition, L, is the bisector of the angle
_k_5x o 35 ) between L and L,. Let O (@, B) be any point on L,.
T 3+y Sty - Length of perpendicular from Q (¢, ) on L, and L must
35y 35x be equal, thus
From (3) and (4), we get "% 5wy lo+mpB+n_, (ac+bf+c)+Adle+mp+n) @
= y5+»=x(7-x) N \/(a+ll) +(b+Amy
= x(x—T)+y(y+5)=0Iis the locus of R. Since Q (o, f) lieson L, . a+bf+c=0 3)
36. Let Q be the position of the point P (2, 3) after first trans- From (2) and (3), we get
formation. Then, Q = (3, 2). Let R be the position of Q after 1 . )
second transformatic.n%, ThCIl, R= (3, 4). . \/[2 + m2 T \/(a + 2‘1)2 + (b + Am)z
- gff fxbe Jjh)e new position of R after third transformation. Let = (@t AP+ b+ AmP= 2P+ md)
m =G P+ b+ 24al +2Abm=0
) If OR makes an angle a with x-axis, then = 4 2 :;2 "
E tana = i = A= (4)
z =3 2(al + bm)
o Substituting the value of A from (4) in (1), we get
+ YA 2 3
2 < (ax+by+c)—i(lx+my+n)=0
© {(29 3) ﬂ// ’ 2(al + bm)
P = 2 (al +bm) (ax + by +¢)— (@ + b)) (Ix + my + n) = 0,
& ‘\\ which is the required equation of the line L. 0
&" *Q(3,2) 38. Let the coordinates of B be (¢, ff). Since coordinates of 4 are g
= sy (1,-2) =
(= Z o)
~
=, (N 2
¥ ‘U’)
= Y YA Sey) >
. o ~
3 R(3,4) E¥S (0]
w I Mo (=
0 ! N (=)
& : AN 2 8
o : R3.4) the slope of AB = A () O
(-Oh Q (35 2) 45° : : a—1 g
(¥ e ;_| :_] The equation of the perpendicular bisector of AB is =
N L Y m
0 X 0 S, X #YEI=) 52 @) -
(i) (iif) From (1) and (2), we have [ ) H=- :>|:
.4 3 z
= sma:gandcosa:E.Also,OR=5=0S. = at+fB+1=0 (3) >
. Also, the mid point of 4B lies on (2), 2
Now, =08, =5 o+ 45°) = = a Q
ow, x, 1 cos ( ) 7 (cos [a +1J (ﬁ 2]+5 0 <
—sin o) 2 2 0>
-3 (i_i) _1 = a-f+13=0 (4) =
J2\5 5 V2 Solving (3) and (4), we get e¢=—7 and B=6. %
and, y, = 88, =5 sin (o +45°) So, the coordinates of B are (-7, 6). >
-~
= i(sinat +cosa) Similarly, the coordinates of C are (1 ! ] 2J I
V2 575 =
N
0
N
=
T
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39.

40.

The equation of the line BC is

2 6
y—6= S (x+7)

11

—+7

5

= y—6=—i—2 (+7)= 23— 6) + 14(x +7) =0

= 14x+23y=40.
Hence, the equation of the line BC is 14x + 23y = 40.

We have,

2+3H)x+(1-20)y+4=0

= (x+y+4)+t(3x-2y)=0

= Every member of the given family of lines passes
through the point of intersection of the lines

XP(2,3)

2x+y+4=0 (1)
and, 3x—-2y=0 2)
Solving (1) and (2), we get
x= 5 and y = —2-

7 7

So, the point of intersection is (—%, - %)

The required line passes through the point [—%, - %J and
y . 8 12
is L to the line joining (2, 3) and —7, - 7 .
L 8 12) .

Slope of the line joining (2, 3) and (__, - _) is

. 12 & 7
__1.3_3

B 8 22 2

7

Slope of required line = _g .

Equation of the required line is

-4
il 7
or, 14x+2ly+52=0.

Coordinates of vertices B, C and D are
(2 cos 30°, 2 sin 30°),

(v/8 cos75°,+/85in75°)
and, (— 2 cos 60°, 2 sin 60°), respectively.

IT-JEE-MATHEMATICS

41.

42.

MATHEMATICS

2-D

¢
GEOMETRY

A
C
2

D 2

90° B
2
45° 2
30° R
(0,0)A >

ie., B=(\3,1,C=(3-1,3+1)and D =(-1,3).

V-1 By
-1-¥3 -(B+DB-D
.. Equation of diagonal BD is
y=1=(3-2)(x-3)

= 2-Bx+y=2:3-1).

The normal to the given parallel lines cuts an intercept = %

Slope of BD =

4x+3y-12=0

-2,-7

If 6 be the angle that the required line makes with the nor-
mal, then

tanf = —.

cose—2
5

TN

Let @ be the angle that the required line makes with the nor-

mal whose slope is % Then, we have

3

m—=
itan9=ii=—4 = m=oo,—7
1 3m 24

4

Therefore, the equations of the required lines are

-7
x+2=0andy+7=— (x+2).
P 24( )

If (x, y) be the coordinates of the required point, then we
have

|3x—4y+l|=1 )
5
il Wzl )
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Since (x, y) lies below L, therefore
Xl o e 3v—dp+ 150

and since it lies above L, therefore
M>0’ ie,8x+6y+1>0

Removing the mod sign from equations (1) and (2), we have
+@Bx—4y+1)=5

and, + (8x+6y+1)=10

Solving, we get the coordinates of the required point as

(550)
5'10)
43. Let R be the radius of the circumcircle and O be the origin,
then 40 = jx +x, tan’
= R=x, sec 0= x, =R cos a. Similarly, x, = R cos ffand
x;=Rcosy
So, the coordinates of vertices are A(R cos &, R sin &), B(R
cos 3, R sin B), C(R cos ¥, R sin ). Hence, the
Y Rcosa ZRsina)
» 3 :
Since the orthocentre H(a, b), circumcentre C(0, 0) and the
centroid G are collinear, therefore

Slope of OH = Slope of OG
b R(sina +sin § +siny)

coordinates of centroid G are [

a R(cosa+cosf+ cosy)'
44, Let Pbe (0, ¢), c is a constant
From the figure, h=OL =00+ QL
=ccot 8+ QR cos (180 - 60— 6)
=c cot 8+ PQ {cos 120 cosf+ sin 120 sinf}

¥
R{h, k)

(0,¢) P

0
Y

=cc0t9——c059+£
2 2

PQsind

=ccotd —%c cosec @ cos@ + %c cosecd sind [ sinf = PL}

=%(cot9+\/§) ey
Again, k=RL = RO sin (180 — 60— 6)

=PQ {sin9.1+ cosﬂ.é}
2 2

=c cosec @ {%sin@ + ?cos@}

IHT-JEE-MATHEMATICS

45,

46.

47.

MATHEMATICS

¢ 2-D
GEOMETRY
=§(1+\/§c0t9) 2)

Eliminating cot @ from (1) and (2), we get k = VBh-c
The required locus is y = Bx-ca straight line.
Circurmcentre of the triangle is (0, 0) and

. [3+500$6 +5sin@ 4+ 5sinf —50039]

centroid = s
3 3

" Centroid divides the join of orthocentre and circumcentre
in the ratio, 2 : 1
s h=3+5c0s 8+ 5sin fand
k=4 + 5sin 8 -5 cos 8 where (h, k) represents the
orthocentre

=E=7 and cosf = h_l';_H

= (h+k=T0+(h—k+1)=100
Locus of orthocentre is (x + y — 7> + (x — y + 1)
=100.

Let OAB be the right-angled isosceles triangle. Then,

ZOAB = /OBA= %

= SinB:h

The perpendicular distance of the line 3x + 4y = 6 from the
origin is

Y
B
SN
wA>4
0 X
oo 5.6
J3t 44t 5
Since, LO04AM = % , therefore AM =OM =g.
. 36
Hence, area of AOABis A=0OM x AM = E
P, is mid-point of O4, therefore OF = é
S . 1 1 1
P, is mid-point of OP, therefore OF, = —x—=—
2 2 2
Y
O,DHB
N
&
\1\\/
W
X
Ol p p Py(1/2,0) A(1,0)
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Proceeding like this, we have
OP, = L
2'!
48. Let AN _ A
BN

0 (a, 0)4

[putting x = 0 in equation (1)]

Then, N = ( a al]
1+471+4

Slope of AB=—1

More than One Option Correct Type

MATHEMATICS

€ 2-p
GEOMETRY
slope of MN =+ 1
Equation of MN is given by
ai a
- =x— 1
£ 1+ I+ M
Hence, M E(O,a(l_l)J
A+1

[putting x = 0 in equation (1)]
Area of AAMN =%xANxMN

\/_aﬂ. \/_a

1+4 1+/1

a‘i
(1 + 1)

Area of AABC:%xOAxOB=%a2

. ail 3
Given, ——— =—x
(1+4)" 8

= 164=3(1 + A
= 32-10A+3=0 = A=

1
2

1
=3

3’

M lies outside segment OB, hence the only

For /'L=l,
3

acceptable value for A=3.

49. Let a be the side of the square, then diagonal d = a+/2.

Given, a, = V2a

n+l

— an — au-l — an-2 - — al
= TR T(y Ay Gy
a =% a=_4 _10
"Wy T

100

Now,areaof 5, <1 = a’' <1 = F<1

= 2">200>27
n=28,9,10.

50. The equation of the line in parametric form is

= n>17

x-3 y-4

cosd  sin
Any point on this line is (3 + r cos 6, 4 + r sin 6)
Itliesonx=6if3+rcos =6 =r=3sec @

. PR=3sec@

Again, the point lies on y =8 if 4 + rsin #=8

. r=4cosec Bor PS=4 cosec 6

51. Let the equations of the lines AB and AC be

3x+4dy=5 )
and, 4x-3y=15 )
IIT-JEE-MATHEMATICS

y=2=m@x-1ory=m@x-1)+2 3)

P(1,2) B c

(1) and (2) intersect at A = (3, — 1).
[obtained by solving (1) and (2)]
Equation of the line BC, passing through P (1, 2) is

21-3m 8+11lm
4-3m 4-3m

4dm-3 6+2m
4m+3" 4m+3

Solving (2) and (3), we get C E[

Solving (1) and (3), we get B E[

Since AC=AB = AC* = AB*
2 2
- [21—3m_3] +(8+11m+1)
4-3m 4-3m
2 2
4m-3 6+2m
= =3+ +1
[4m+3 ) (4m+3 )

(9+6m)* +(12+8m)’
(4-3my’
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52.

53.

_ (=8m—12)* +(6m +9)
- (4m +3)?
= (100m* + 300m + 225) (4m + 3)?
= (100m? + 300m + 225) (4 — 3m)?
= 25Q2m+3) [(4m+3) — (4 —3m)] =0
= 25Qm+3)P(m+7)(Tm—1)=0
3 1

S me=eD;, <5
5"

When m = —% , equation (3) becomes y—2= —%(x -1)

or, 3x+2y—7=0 which passes through 4(3,—1) and hence
it cannot be line BC.

When m =—7, equation of BCisy=—7(x—1)+2

or, 7x+y-9=0

and when m=;ll-, equation of BC is y=%(x— 1)+ 2or
x=Ty+13=0

Hence, equation of BCisx—7y+13=00r7x+y-9=0.

The equation of the bisectors of the angles between the given
lines are

3x—4y-17 - 12x-5x+6
JE+(=47 a2y +(-5)
= (39x—52y—91) ==+ (60x — 25y + 30).
Taking the negative sign,

we get 99x—-T77y—-61=0 (1)
Taking the positive sign,
we get 21x+27y+121=0 2)

The required lines are the lines through (4, 5) and parallel to
the bisectors of the angles between the given lines.

The equation of a line parallel to (1), is
9x 7Ty +k =0 3)
This passes through (4, 5),
9@)-77(5)+k=0=k =-11.
Putting k, =—11 in (3), we get
99x—-T77y—11=0 or 9x-Ty—-1=0.
This is one of the required lines.
The equation of a line parallel to (2), is
2lx+27y+k,=0 4)
This passes through (4, 5),
84+ 135+ k,=0= k,=-219.
Putting k, =-219 in (4), we get
21x+27y-219=0 or7x+9y-73=0,
which is the other required line.

Let the variable line be ax + by + ¢ =0 (1)
[(2a+c)+(2b+c)+(a+b+c)]_0

Given,
Ja +b* +¢

IIT-JEE-MATHEMATICS

54.

55.
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= 3a+3b+3c=00ra+b+c=0.

So, the equation of the line becomes

axtby—a-b=0

o, a(x—1)+b(ky-1)=0.

= the line passes through the point of intersection of lines
x—1=0andy—1=0,i.e., the fixed point (1, 1).

So, all such lines are concurrent. Also, (1, 1) is the centroid
of the AABC.

The given lines are

Y

N
/
/-P(z, 3)

/] X
(2)
(1)
2x+y=3 ey
and, 2x+y=5 (2)
Equation of any line through P (2, 3) is
x2 ¥, 3)

cosf sinf

Since line (3) makes an intercept of length 2 units
between parallel lines (1) and (2), thus we shall have two
values of » as » and r + 2 and thus the two correspond-
ing points (2 + » cosf, 3 + r sinf) and (2 + (r + 2) cos6,
3+ (r+2) sin@) will liec on (1) and (2), respectively.

2[2+(r+2)cosf] +[3+(r+2)sinf] =5 4)
and, 2[2+rcosf] +[3+rsind =3 (5)
Subtracting (5) from (4), we get
4 cos 0+2sinf=2= 2 cosf+sinf=1 (6)

2 cosf=(1—sinf) = 4 cos’0= (1 —sinh)’
4 (1 —sin*6) = (1 — sinf)’

(5sin@+3) (1 -sinf)=0

5sin@+3=0 or 1 -sinf=0

L sue Ll

sinf = —% orsinf=1

Putting sinf = —% in (6), we get cosf =%

Putting sin@= 1 in (6), we get cosf=0
Substituting the values in (3), we get
x-2 _y-3 x=2,_ y-=3

4 3 =

5 5
= 3x+4y=18andx=2.

Let the coordinates of 4 be (0, ¢). Since (1, 2) is the mid-
point of diagonal AC.
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56.

.. The coordinates of C are (2, 4 — ¢). Let AD be parallel to
y=x+ 2, therefore, its equation is y =x + c. (1)

D (&

N
L\

A(0,¢) B
Let DC be parallel to y = 7x + 3, then its equation is
y=Tx+k (2)
Since the point C (2, 4 —¢) lies on (2)
4—c=T%x2+k=k=-10-c¢ (3)
Equation of DCwillbe y=7x—-10—¢ (4)

Solving (1) and (4), the coordinates of D are

(5-!—0 5+4c]
37 3

It is given that ABCD is a thombus.
AD=DC = AD*=DC*

2 2
= [5+c_0) +(5+4C_"J
3 3
2 2
_(5+c_2J +(5+4c_4+cJ
3 3

= S5+P+(GHeR=(c— 1P+ (Tc—T)
= 2(c+5P=50(c— 1)

= 2c*+20c¢+ 50 =50 — 100¢ + 50
= 4802=120c=>c=00r§.

Hence, the possible coordinates of A4 are (0, 0) or (0, %J

The equations of equal sides are
Tx—y=3 O]
and, x+y=5 2)

Solving (1) and (2), we get

A=(1,4).

The equations of bisectors of angles of (1) and (2) are
Tx—y-3 =+Jr+y—5

52 NG

IT-JEE-MATHEMATICS

57.
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o, 7Tx—y—-3=%(5x+5y-25)
or, x—3y+11=0 3)
and, 3x+y-7=0 4)

Clearly the third side BC is L to (3) or (4).
Let o be the angle between (3) and (2), then

—+1
tana =|3—|=2
1
1——
3
Then, base =2 p tan =4 p.
AreaofAABC=4p-§=50rp2=%.
Any line Lto (3)is3x+y+A=0.
1 distance from 4 (1, 4) is 3*“”‘:‘5.
Jio | V2

= A+7=%50rd=-2,-12.
Equation of side BCmaybe 3x+y—-2=0
or, 3x+y—12=0.
Suppose, f may be the angle between (4) and (2), then

fanf = -3+1 1 1

143 2 E

Then, the base = 2p” tan B=p’.

Area of AABC = % p'xp=50rp?=10.

Any line Lto(4)isx—3y+pu=0.

1-12+n
i is | ———|=+10
1 distance from 4 (1, 4) is o '

= p—-1l=x10o0rp=21,1.

Equation of BC may be x -3y +21 =0
or, x—3y+1=0.
Hence, all possible equations of BC are
3x+y-2=0,3x+y-12=0,
x-3y+1=0,x-3y+21=0.
Equation of a straight line passing through the point (7, 2) be

y-2=mlx-7) 1)
and that of a straight line passing through the point (3, 10) be
y—10=m’(x-3) (2)
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Since the angle made by the incident and the reflected rays
with the mirror must be same, therefore we have

-2-m'" _m-(-2)
1-2m' 1-2m
ie, 3m+3m +4mm’ —4=0 3)

Also, since the lines (1), (2) and the mirror will be concur-
rent, therefore we have

m -1 2-Tm

m =1 10-3m'|=0

2 1 -6
ie, 18m—2m +4mm’ +16=0 4
Subtracting equation (4) from equation (3), we get
m =3m+4 (5)

Now, solving equations (3), (5) we have
m=-2, 7% and m’ =-2,3

Since m = m” = -2 is not acceptable, therefore equations of
the required lines are

y_zi_%(x_n andy —10=3(x - 3).

MATHEMATICS

¢ 2-D
GEOMETRY

Y
rotated by
300
X

translated by
3 units

Since the distance between the shifted and the original line is
given to be 3 units, therefore we have

G =+3 ie,c= +4+3f

5

The given line x + 2y = 4 lies above the origin at a distance
4
ﬁ units, therefore the line obtained by shifting the given

line by 3 units will lie below the origin. Hence, ¢ must be
positive.
Thus, the required value of ¢ is 3J5-4

The shifted line given by equation (1) cuts the x-axis at
(= ¢, 0). If m be the slope of the rotated line, then we have

1
———m
—(2++/3
58. Let equation of the shifted line be tan30° = —2 = = ; J;’L J:)
x+2y+e=0 D 1—5 -
Passage Based Questions
59. If two lines make equal angles with x-axis and are not par- Applying the condition
allel, then only possibility is that angles are supplementary, 1 19 11 19
i.e., if one line makes the angle & with x-axis, the other will 1+ {tan—ﬂ +tan —ﬂJ COS® + tan —— tan —~ =
make —6. 24 24 24 24
o mysinw o mysinw llz 197 97 llx
tan ——=—-tan —— Sin——tan—— + sin——Ccos——
1+m cosw 1+m,cosw ot 24 2 24 | cosa
’ 11z 197
or m, sine LM sino 0 COST-COST

1+m,cosew 1+m,cosm
or, m +m,+2mm,cos =0 (" sinw=*0).
k=2

60. Any line through the point (- 2, 3) is

y=3=m(x+2)

As the line is perpendicular to the y + 3x = 6, we have
33-2
V3-6 "

1+(m—-3)cos30°-3m=00r m=

. . 11
61. The equation are given as y = x tan 2—: (1)
197
an =xtan — 2
d y i @

If two lines are perpendicular to each other and the axes
be inclined at an angle of @, the condition is 1 + (m + m)
cos @+ mm’ =0

IIT-JEE-MATHEMATICS

11z 97 ., 197 . 11«
COS— - COS———+s8in-——sin~——
24 4 4

4
11 197
COS——.COs———
4 4
) [lln’ 19;:J [1971' 11n)
or, smn| —+— [COS®W =—COS| — ———
24 24 24 24

, [571:) (ﬂ.’)
o1, sin| == |cosw =—cos| —
4 3

or, COsw=-— =— -
sin [5%] [_1J 2

or, w=
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62. Lines are given as 3043
8x+Ty=1 (1) = 37
and, 28x — 73y = 101. (2)
8 28 0= tan-t[ 3093 ).
m =—==.m,=— and @= 120" (given) - 37
7 73
[—g - §J sin120°
tan@ = = 828
1 +(——+ —J cos120°+[——](—J
T/\T3
Match the Column Type
63. I. Since the distance between the parallel lines Ix + my + n II. The given lines are
=0and Ix + my + n’ = 0 is same as the distance between the Tx+y—16=0 (N
parallel lines mx + [y + n =0 and mx + Iy + n = 0. Therefore, Sx—y—8=0 @)
the parallelogram is a rthombus. Since the diagonals of a
{4 | fore th . ) and, x -5y +8=0 3)
rzombus are at right angles, therefore the required angle is Equation of the line passing through the point
7 A (k+ 1, 2k) and making an angle @ with the positive direc-

tion of x-axis is

= 241

E II. tan9=‘ﬁ’=3 = f=tan'3 x—(k+1) y-2k

= B cos@  sin@

= NG ~ N B

) UL AP=r="" =r,rpry (ifAB=r,AC=r, AD=r)

B=[(k+1)+r cos 6, 2k+r, sind]
C=[(k+1)+r,cos 6 2k+r,sind]
D=[(k+1)+r;cos 6 2k+r, sind]
Since the points B, C and D lie on the lines (1), (2) and (3),
respectively,
_ 9=k 3=k
 7cosB+sin@ > 5cosf —sin6

9(1-k)

— h= 5sin@ — cosf

x=1_y=2_
cosf  sin@

P=(1+rcos 6,2 +rsin 6
‘P’ will satisfy x + y=4

Equation to AP:

11 _ 5cos@ —sinf . 5sin@ —cos O

SO0S0S96ELL 16* // 0E19856E667 16+

noon 3(1-k) 9(1-k)
_15¢c0s6 —3sin@ + 5sin6 — cos O
9(1-k)
_ 14cos +2sinf _g
9(1-k) r
J6 J6 . ‘
]+TC°SG+2+TSIHG=4 Hence, r,, r,, r, are in H. P.
sin’ 0

III. The given line is xcos@ + ysinf +
= cos[ﬂ - %) = g = cos 30° cos6
Let p,, p,, p, be the lengths of the perpendiculars from the

=0 (1

64.

s 8=T750r15°

I. Wehave, AB=BC

= B is mid point of AC
Jc+z=yandy+z+x+y=
2
x+z=2yand2y=x+z

Z+x

U

U

=

IIT-JEE-MATHEMATICS

X,y zareinA. P,

points 4 (m? 2m), B (mn, m + n) and C (#?, 2n) on line (1),
then
s 2
" . sin“ @
m” cosO +2msinf + cos0 _ (mcosd +5in0)’

cosO

p —
l Jsin?@ + cos’ @

sin’ @

p, =mncosO + (m + n)sin@ +
cos@
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Previous Year's Questions

65.

66.

67.

_ mncos” 0 +msin@ cosO + nsin@ cos O +sin” O
cosf
= L [m cosB(n cosO +sinB) +sinb (n cosO +sinbh)]
cosf

_ (m cos@ +sinB) (n cos6 +sinH) and

cos@

MATHEMATICS

2-D

¢
GEOMETRY

(n cos@ +sinf)’
cosf

sin’6

p, =n’cosB +2 nsinf +
cosf

(mcosB +sin@)* (ncos +sinB)’ 5
cos’0 &

Now, p,p; =

Hencc:,pl,pz,p3 are in G. P.

Let A(4, 0), B(—1,—1) and C(3, 5) be the vertices of a AABC.
Then AB =./(-1-4)? +(-1-0)’

=\V25+1=26

BC=\3+1)* +(5+1) =4 +6

=16+36 =+/52

and CA=\/W
=V1+25=126

CA2+ABZ=(\/%)2+(\/%)Z

5 =26+26=52

=BC

= CA>+ AB*=B(C?

Thus, the triangle is isosceles and right angled triangle.
The equation of parabola is

V+4y+4x+2=0

= yY+4y+4=-A4x-2+4

= (y+2) =—4(x—%)
Transformation y + 2 = Yand x —% =X gives
Y2=—4X

Herea=1
Equation of directrix is X = 1

= x——=1

= X=

Njw N =

Key Idea: If the triangle is equilateral, then the incentre coin-
cides with the centroid of the triangle.

Let A(1, 3 ), B(0, 0), C(2, 0) be the vertices of a triangle
ABC.

a=BCy(2-0) +(0-0) =2
b=AC2 -1y +(0-B) =2
and ¢ = AB\[(0-1)* +(0-+3)' =2

b=AC=-J2-1f+(0-V73)}=2
andc=AB=M0-1*+(0-41)=2
The triangle is an equilateral triangle.

IIT-JEE-MATHEMATICS

68.

69.

70.

71.

72.

73.

Incentre is same as centroid of the triangle.
= Co-ordinates of incentre are

(1+0+2 \/§+0+o)ie (L
3 ’ 3 *Wey ,\/5

Key Idea: Equations of angle bisectors of lines

ax+by+c =0,and

ax+by+c,=0
ax+by+c +azx+b2y+cz
\/al+b2 \/a22+b22

For the two lines 24x + 7y — 20 =0 and 4x — 3y — 2 = 0, the
angle bisectors are given by
24x+7y—-20 _+4x—3y—2
25 B 5
Taking positive sign, we get
2x+1ly-5=0
Therefore, the given three lines are concurrent with one line
bisecting the angle between the other two.

B+ y =0 makes an angle 120° with OX and B+ y=0
makes an angle of 60° with OX. So, the required equation of
lineisy—2=0.

Let p (x, y) be the point equidistant to the given points, then
x—a)y+@-b)y=x-a)+@y->b)

1
= (a,—a)x+(b,-b)y+ E(bzz_ b+ ai—a)=0

Hence, (A) is the correct answer.
Given parametric equations

acost+ bsint+ 1 asint— bcost+ 1

B 3 1P 3
1 2 2 2
This implies that(x— 5) + y'= 2 ;b .
Hence, (B) is the correct answ -
If Cbe (h, k) then centroid is ( ( 3 )) it lies on 2x + 3y

=1
Therefore the locus is 2x + 3y =9.

Point (4, 3) lies on 2+ 2 21 witha+b=~1 then i+3=1
a b a b

= a=2,b=-3o0ra=-2,b=1.
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F 2o,
2 1

Hence E—Z=1 and
2 3

1
74, m +m,=—— and, mm,= T
= m t+m,=4mm, (given)
= c=2.
75, my+m, =—, mm, = and m =—
¢

Hence ¢ =-3.
76. P=(1,0)

Let Q= (4, k) then K*= 8k

Let (e, ) be the midpoint of PQ, then
k+ 0

2 IR

= 20-1=h20=k

= (28r=82a-1) = p*=4a-2

= »¥—4x+2=0.
77. Required equation is of the from

ax +2by +3b+ Mbx—2ay—3a)=0

= (a+bDx+2b-2al)y+3b-34a=0

avbi=0=1=_2%
b

= ax+2by+3b—% (bx —2ay—3a)=0

2
= ax+2by+3b- ax+2%y 36 —=0

b

= (2b+2i]+3b+3i=0
b b

[21)2 +24° j B _[31)2 +3a2J
i b

3 +bY) -3
= = — =
AP +d’) 2

3 .03 . ;
= y=—=soitis = units below x-axis.

78. Vertex of triangle is (1, 1) and midpoint of sides through this
vertex is (-1, 2) and (3, 2) = vertices B and C come out to
be (-3, 3) and (5, 3)

" centroid is [1_3+5,1+3+3] :[l,zj
3 3 3

A(l, 1)

(-1,2) (3,2)

B C

79. The required line intersects the axes at points (0, 8) and (6, 0)
Hence, the equation of the line is
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—4
=—(x—-6
y=3 (x—6)
= 4x+3y=24
a’x®  a’x
80. Given parabola: ¥ = 3 +7—2a

Vertex: (o, f) implies

E da 44 ia3
3 3 3
N
1247 16
__i[ Eja:@
4a\ 16 64

81. We must have

—3a<0and aE—%> 0
1
= —<qg<3
2

82. We have %(k—l) ==l

= k-1=%2
= k=3ork=-1
A 40k

B(1,1) c@

A
4

v
2x
83. Slope of the line QM is tan ?= - \/5

Hence, the equation of line QM is y= — \/gx‘

R(3,3V3)

o
w
o wla

o(,

84. Equation of bisectors of linex=0andy=0are y =

Put y =+x in mp? + (1 — m¥)xy — mx® = 0, we get (1 — m?)x?
=0
= m==l.
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85. Slope of the bisector =k — 1 90. Equation of line passing through (1, 2) with slope mis y — 2

k+1 7 =m(x—1)
Mid-point of PQ:(_,—] (m_ 2)2
22 Area of AOPQ= ——
Equation of bisector is 2|m|
7 k+1 2,4
y-T = x- &2 A THAzdm
2 2 2m
Putx=0and y=—4. m 2
= k=4, A=—+—=2
2 m
. b
86. Slope of line L——g A isleastifﬂ=g
2 m
Slope of line K = —> dbula
ope of line A et
Link L is parallel to link £. = m=-2 1
3 91. Slope of the incident ray = ——.
—=> = be=15 3
5 ¢ So, the slope of the reflected ray must be —.
(13,32)is a point on L \/5
13 32 32 8 Now, the point of incidence is (\E,O) And so, the equation.
PN T TS (x—3)
of reflected ray is y =—={x—-+/3).
L A 3 V3
= = b=-20 = c=--—
= 4 . ax; +bx, +cx,
r% Equation of K: y —4x =3 4. Abscissg= a+b+c
” % |52—-32+3| 23 A
Dist: tween L = =
% istance between L and 7 Nt :2x2+2 2xi)/t2x0
% 87. P(-2,-2):0=(1,-2) SIS
= Equation of angular bisector OR is _ 4 _ 2 —9_ JE
= (5 +242)x = (5 -2)y 44242 2442 -
(o]
o PR:RO= 2J2:45 Alternate Solution: %
w e é -
o - b2=a2(]—ez)=a2(l—2]=a2§= Abscissa=r=(s — a) tan 5
~ 5 5 O
N 2 2 4 2‘\/5 =
+ Xy 9 5 |4+ T 3
3 32 o . =~
N al= 5 93. Let point of intersection is (&, — /) 8
= dah—2ah+c=0 =
n bz_g 0)
o =75 5bh—-2bh+d =0 0O
& Required equation of ellipse 3x* + 57 — 32 =0. S, . d g
6+2 1242 » o =T .
89. Point pz(—, ) 2a  3b 3:
55 3be —2ad =0 I
8 14
I Z
_(5’ 5] 94. S[g,lJ,P(Z,Z) >
0
=(_,E] liesson2x+y =k 2 :OE
5 Slope=—§ i
16 14 N
—+—=k Equation will be y+1 =_2 A
5 5 x—1 9 =
- 1= _¢ Iy+9+2x-2=0 @
5 2x+9+7=0 pad
o
N
O
N
=
I
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95. x+y<41,x>0,y>0is bounded region. x—y+1 _+7x—y—5
Now, number of positive integral solutions of the equation x NN
+y + k= 41 will be number of integral co-ordinates in the
bounded region. = Sr—y+1)=Tx-y-5
=4-1C, | =%, = T780. and
96. Let M be mid-point of BB and AM is L bisector of BB’ Sr-y+D)=—Tx+y+5
(where A is the point of intersection of the given lines) S 2x+4y-10=0 = x+2y-5=0and
x=-2)(x-D+(@x-2)(r-3)=0 2x-6y=0 = 2x-y=0
Now equation of diagonals are
["*2—2]("+2—1]+[k+3—2](“3—3]:0 G+1)+20+2)=0 = x+2p+5=0 )
2 2 2 2
and
= (h=-2)h)+*k-1)(k-3)=0 2+ 1)—(y+2)=0 = 2&x-y=0 ¥))
= 2=+ -4y+3=0 18) ..
= =12+ (p-22=2. Cleary [S,EJ lies on (1)

97. Equation of angle bisector of the lines x—y + 1 =0 and 7x —
y—5=01s given by
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